TNPSC — GROUP - 1 — 2024 — PRELIMS

CCSE1P/2024
1. Assertion (A) C.N. Annadurai organised small labour unions
Reason (R) : Labour welfare is related to time and place

(A) Both (A) and (R) is true and (R) is the correct explanation of (A)

(B) Both (A) and (R) is true but (R) is not a correct explanation of (A)
(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

(E) Answer not known CCSE1P/2024

Famm (A) : C.N. gjeoreoormgieny Fm QsTPHMHERGHIGHIGHET I MNssS
gOUMT(H QFWSTT

smgevortd (R) : Q& TAGLTET HEVEDT 6T6TLIGI GHITLD LDMMILD @)L & SIL 60T
QETLIYmLWSI

(A) (A) mmmibd (R) &, (R) - speorg (A)-eor Fifluiment eflemdsLD.

(B) (A) mmmiid (R) &1, (R) - aveorg (A)-eor Fiflwimest eflendasLh 96060
(©) (A) &1 apeormev (R) geumy

(D) (A) seumy apermev (R) &ifl

(E) allemL Qsflwailsvemev

2. Choose the right matches among the following

(1) Madurai Gandhi - N.M. Subburaman
(2) Thatchina Gandhi = Rajaji

(3) Vidyalaya Iyya - Kamaraj

(4) Father of Tamilnadu library Movement - A. Ramasamy

(A) (1) and (3) are correct

(B) (1) and (2) are correct

(C) (2) and (3) are correct

(D) (3) and (4) are correct

(E) Answer not known CCSE1P/2024
LY 6dTeU (H6U6OTOUMMIET &FFUIMET QUTBSSHHMS CHTHGSH M)

(1) sy &MTHH - N.M. &Ly gmweor
(2) sLAT &THS - @uregneg

(3) afgwimevuwdm Suiwim - SITIDITSY

(4) sULBTE BTVS @)USHSHSH T FHend - A. gmwogsmd

(A) (1) b (3) b &1l (B) (1) b (2) b &1fl

(O) (2) b (3) b &1l (D) (3) b (4) b &1fl

(E) ellemL Qs iflwellsvemev
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3. Rao Bahadur Sir A.T. Pannirselvam was a leader, who previously served in the

Governor Erskine’s Executive council

(A) Swarajya Party (B) Congress Party

(C) Justice party (D) Samajwadi Party

(E) Answer not known CCSE1P/2024

Jmed USSTT &FJ. 3|.5. LIetTeof TG &F6vaILD HMLATTEH @QUBHSTT. QSHMS
(LPESTL] 2,@BBIT 6TT6rv & 6ofledT BlITeUTSHE & Wallev Lieooflulmmnleor i

(A) swUrTRWsS &L (B) smmi& e &L &

(C) BB s &5 (D) FsomRYeurd &L

(E) ellevL Qs fluelevemney

4. In accordance with the recommendation of the 15t Finance Commission, states will be
allowed a fiscal deficit of 4.0% of GSDP of which 05% will be tied to reform the following

sector

(A) Agriculture reform (B) Power sector reform
(C) Industrial sector reform (D) Service sector reform
(E) Answer not known CCSE1P/2024

1528  mIHs Guwalar uflbaempserfleruly, LmplekseEesse GSDP-6v 40%
BISILILUOOTHEGOD IDUDHSHELLGL, AFew 05%  LlaTeu@ld  Siemmenws
FIHBSSIUSHS @06 sLILBID

(A) elleusmwig siemm (B) eriflga% s16mm

(C) @smibley siemm (D) GFemeu glemm

(E) eflen L Gz flwaillsvemnsy

5. Which of the following statements are true about Temple Entry Movement?
(i) The British Government in the Madras Presidency passed an Act on November 1 of 1817
(ii) It supported the identical powers of Temple Management
(iii) It was the model of the Bengal Act No. XIX of 1810

(A) (ii) and (iii) only (B) (i) and (ii) only
(C) () and (iii) only (D) (iii) only
(E) Answer not known CCSE1P/2024

GLp&ETeooTLaIMHMET el Henwpell CUTITLLSHemerll LMMILI 2 600Ted)L0 U TeoT

Fo DM 60YEOT T M)

(1) meubuy 1, 1817 0 WflLgeq os QuLgmev KIFHQLarFIuley @m FLLHms
BlemoGaudHDlw Sl

(i) @& Gamallev BITeaTHEH 6T G IMTH FlUMeT S SHTIHIGm6T 24,5 lHEH M

(iii) @& eumismeng &L L Lb BLT XIX, 1810 6v 2 6iTerm DMH FlWNs @HERMS!

(A) (i) bmmiib (iii) WL @GID (B) (1) ommiib (ii) L @i

(©) (1) wmob (iii) L @D (D) (iii) @D

(E) ellemL Qs iflwellsvemev
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6. Which book guided the Poligar confederacy against British which had a maxim
“Pretend submission and Procrastinate surrender before the formidable enemy”?

(A) Mahabharatam (B) Ramayanam
(C) Panchathantram (D) Silappathikaram
(E) Answer not known CCSE1P/2024

"euedlemowimeor  erSHflulledt  WeT g LIcoollHedledT  LIMEMMBIGL  &Feooren L g 69 6or
R&H eIl aerm UPQLmEulleruly wBHCWHEHEEG 6THFMT LIMTeneTUISHSTTT
Fa LemOLIL&E& UGBTI IQ U HTev

(A) bamTUTFSLD (B) @pminmuiesord

(C) uEHFsHHTLO (D) AevliLE &L

(E) ellevL Qs flualevemney

7.  Arrange the following events in the chronological order

(1) Bharatha Matha Society (2) Madras Mahajana Sabha

(3) Home Rule League (4) Madras Dravidian Association
A)(3), D, (2, (B) (2), (1), (4), (3)

(©) (1), (2),(3), @) (D) (4), (3), (2), (1)

(E) Answer not known CCSE1P/2024

GG evoTLeumenm &Tev eulflenF LB &S5

(1) UMys LDMST FMISLIN

(2) Q&F6TEMEOT LDBTER60T S 60ILI

(3) Gamrmmid emev @ WEHSELD

(4) wsrmev HymallL FHIGLID

A) (3), (4), (2), (1) (B) (2), (1), (4), (3)

© (1), (2),(3), (4) (D) (4), (3), (2), (1)
(E) ellemL Qs iflweilsvemev

8. According to Valluvar, what is Venmai (Stupidity)?
(A) Arrogance that cries, “Behold we claim that glory of wise”
(B) The fools would conceal nakedness
(C) Fools think what they know is knowledge serene and pretend
(D) The shallow who are lazy to listento wise counsel
(E) Answer not known CCSE1P/2024
QeuenoTemLD 6TeoTLILI(R6US! WIMTQ 60T aU6TEH6UT Fa ST ?
(A) s flQeumerf] LIenLSH6UTE6T 6TeTMI [Blen6Tsh @D Q& (HE G
(B) 2_L1bemL SpemL WML WemMmLILIG CLITEV GMMMhIGHED6T L060 M &HSH60
(C) "meoTLBs &TLF", "Q&MeooTL G G &HTeTend:” 6T6edTM HLL1LIGI
(D) wemD BIL&ET FaMiID SIMleYenTenW JHSTH BHSS 6V
(E) aflev Qsflwaievemev
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9. What are the things “Being with Kings, Discerning unspoken thoughts, knowing the
audience”, stated in these Chapters by Thiruvalluvar?
(1) About Minister’s behaviour
(2) Minister’s advised to King
(3) How a king should treat another King
(4) Related Psychology Ideas

(A) (1) and (3) only (B) (2) and (4) only
(C) (3) only (D) (1), (2) and (4) only
(E) Answer not known CCSE1P/2024

"LoeTEOTenTEF CEFIHOSMWGSH, GSMILILMGE, SemaulmEHe”’ UH W AFH&TTHIG6T 6V
GUGTEB6UT 2_600T[JE &I6U60T WITem6U?

(1) sieowEsler BLHeng LHMIWLS

(2) SIWFFT LDGTEOTEN GG 2, C6VITEFEDI60T 6U LD MG 61U S

(3) wesreoredt LNm WDetTeoTTSHCemm(h) BLHHIQ S meTer Ceuevoriql (nemm LimmMlulg

(4) 2 aallwe &mHSHSISH&6T Blenmbhs

(A) (1) wHmID (3) LLBHID (B) (2) and (4) @b

(O) (3) LLEWD (D) (1), (2) LOWID (4) LLEWD

(E) ellemL Qs iflweilsvemev

10. Makkale Polvar Kayavar” Avaranna

Oppaari yaanganta thil :

— In this verse who is mentioned as Kayavar?

(A) Irresponsible persons (B) Individual peoples
(C) Aimless peoples (D) All of these

(E) Answer not known CCSE1P/2024

D& &HG6T GLITELEUT “&HUIGUT" | 6MT60T60T

eLiumf] WThI&euoTL Hev

— 6T60TM G MmerfléL "Sweur” eTeor WMenIs & MILILNHE TmTF?

(A) QuUTmILIS6veVTSH QUT S 6T (B) ell@pLiLb@uUImey BLLILIUTE6T
(C) @BMIWMMI QUITLDLIGUTE6IT (D) @emeu eLpedTmILD

(E) ellemL Qs iflweilsvemev

11. According to Valluvar instruction, “The person who follows an ascetic life”, what should be
done to avoid contempt?

(A) Non stealing (B) Non killing
(C) Non angry (D) Non desire
(E) Answer not known CCSE1P/2024

"FINNGHEEEHG @HLEF QUMD @(HHH" EUTH6T 6Tl @UWEHSD GLMGSTET6T
GeuevoT(H LD 6TEOTMI GUGTEBEUT T MG MIT?
(A) FeTeTmEmLD (B) @ssmevevmemLn
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(C) GaIMULD Q&ITEITETTEnILN (D) apem&FLiLLmemin
(E) eflevL Qs fluelevemney

12. To whom wealth compared to the full water of city tank?

(A) Man of eminent knowledge (B) Evil friends

(C) Gambling (D) Baseness

(E) Answer not known CCSE1P/2024

WML QFVaISMS aU6TEB6UT BT Blenmbs 2erheool1GUWMT®H LIRS mT?
(A) GuMleumeredr (B) & mLL

O sa (D) sweury

(E) ellemL Qs flweillevemey

13. Who is the author of the Novel “Kaagetha Sangiligal”?

(A) Sujatha Rangarajan (B) Vaali

(C) Jayagandan (D) Pudumaipithan
(E) Answer not known CCSE1P/2024
"GBTRSGE FHIGeN&G6T" eTeoTm L|F 60T H60r QLA FlulF wimg?

(A) &QM& T JHIGT T 6T (B) aumad

(C) QW sTHS 6T (D) ysiemwn i g s 6o

(E) ellevL Qs flualevemney

14. Match the authors with their magazines

Author Magazine
(a) Jeyakanthan 1. Thendral
(b) Na. Parthasarathy 2. Annam Vidu Thoothu
(¢) Kannadasan 3. Gnanaratham
(d) Meera 4. Deepam
AR FWTHET 2JeUFTHTH @) LG EBL 6T QUITIHS SIS
A lwiy @ FLD S 6T
(a) QWsTHEe6T 1. Q&H6TM6Y
(b) BM. UMTTSSFTTH 2. 9|eTeoTD N (H) SNS
(c) &6voTEUOTS TE 60T 3. @MeTISHLID
(d) Sgm 4. BuULb
@ Mm @ @
(A) 2 1 3 4
(B) 4 3 2 1
© 1 2 4 3
(D) 3 4 1 2
(E) Answer not known CCSE1P/2024
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15. Which work refers to the war at “Kazhumalam’?

(A) Kurunthogai (B) Agananooru

(C) Natrinai (D) Paripadal

(E) Answer not known CCSE1P/2024
"G (PLO6EVLD" 6T60TM @)L &SI GUIMT Bl&HLDem6 Sn MGG

(A) 60IHOSTO S (B) @1&preamnm

(C) mmnjlexr6v0T (D) urlumLey

(E) ellevL Qs fluelevemney

16. Malaiyulae pirapinum malaiku
Avaitham en siyum

— In which book does these lines occur?

(A) Kurunthogai (B) Agananooru
(C) Kalithogai (D) Natrinai
(E) Answer not known CCSE1P/2024

"lnemeuGerm LImLUILenIlh 1nemevs: &

LDEMEUSITLD 6T60T Q& WULh”

— 6TedTM LIML6V eufl&elT @L LD QUMM HIT6L 6TSI?

(A) GOIHESTEN S (B) o1&pMeomnm
(C) 3695605 M5 (D) mmnlex evor
(E) allemL Gz flwelevemey

17. Who was the first accused in theAshe murder case?

(A) Sankara Krishnan (B) Nilakanda Brahmachari
(C) Madasami (D) Vanchinathan

(E) Answer not known CCSE1P/2024

316 Q&ML QISR (LNG6V GMmelTer] umy?

(A) BI&T &) ([H61q 600T60T (B) Bevssevor LNgbnESF TS

(C) nmLsmA (D) eumeh S b 607

(E) ellemL Qs iflwieilsvemnev

18. Which palce ws the most important learning center of the Jain Scholars?

(A) Madurai (B) Trichy

(C) Tanjore (D) Thiruvalangadu

(E) Answer not known CCSE1P/2024

L9 6BT6U (H U 60T6U MMIET FLO60OT M) @& 6rfl60r (LN&HE U S5MHMEL eMLDWILDITS @) (HHS @)L LD 6T&?
(A) gien (B) 985S

(C) smigmayy (D) ®meumevmissm(h

(E) ellemL Qs iflwellsvemev

www.vetriias.com 9884421666/9884432666 6



http://www.vetriias.com/

19.

20.

21.

Match the following Titles of the Kings

(a) Pandiyar 1. Aadhavan

(b) Cherar 2. Thithiyan

(¢) Chola 3. Chezhiyan

(d) Aai 4. Sembian

LD GOT6OT [T 856111607 LIL_ LI 8606 QILIMT(H S SIS

(a) wmevoTIQUIT 1. Q561607

(b) Gepn 2. H\&\wletr

(c) Gempr 3. Q& 8lwieor

(d) sul 4. Q&L west
@ b ©© @ @

A) 3 4 2 1

(B) 3 1 4 2

©) 3 2 1 4

(D) 4 3 1 2

(E) Answer not known CCSE1P/2024

Tamil Nadu Disaster Recovery Centre (TNDRC) is located at

(A) Chennai (B) Tiruchirapalli
(C) Coimbatore (D) Madurai

(E) Answer not known CCSE1P/2024
SAPLBTEH CulLy WL U emwowid (TNDRC) 9jeminbaiereT @)L Lb
(A) QaeTem 60T (B) ®maf gmiiueerl
(C) Gamwibugs&TT (D) ingiemy

(E) ellemL Qs iflwieilsuemnev

Tamil Nadu Government’s “Pudhumai Penn” Scheme ensures
(A) Women Participation in Politics

(B) Higher Education for Women

(C) Increased Women Employment Opportunities

(D) Marriage Assistance Scheme

(E) Answer not known CCSE1P/2024
SLOPS ATH 6T "LSlemnln QLT B LLD eTemd 2 MG LGS SR MSI?
(A) orawedev QLIctoTS6rfl6dT LIMIG

(B) QuUetoT&:EHEG 2 W sevail

(C) QUIETIT&:EB&HSHTeT GalemevalmUlllemnL H & LILIH S SIS 60
(D) @\ @wetor 2_gal HL_L LD

(E) aflev Qsflwaievemev
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22, Compared to the year 2017-2018 Tamil Nadu in terms of health index falls on the category of
in the 3" round of 2018-2019

(A) Improved rank (B) Retained rank

(C) Deteriorated rank (D) Negative incremental performance

(E) Answer not known CCSE1P/2024

2017 — 2018 9y,e0r(HL6T L ILNHID CGLIME 2018- 2019 @6V ELNETMTEUG FMMI6V S&HTSH TS
&SI 19657 1q LILIemL_ull6L SLALDBTEH flemeusd CoimhessTHMS

(A) GubuU@SsLILLL srafleans (B) s&5:mal55 salifleans

(C) Erermev/&ifley sreauflens (D) 918 511&G1D IS Inemm & Wi6LS meor

(E) ellevL Qs fluelevemney

23. Tamil Nadu follows to implement the family welfare and Child Health

Programmes in the state

(A) Community needs Assessment Approach

(B) Strategic Plan approach

(C) Top-down approach

(D) Strategic Management Approach

(E) Answer not known CCSE1P/2024

OIBIVEH 6L GHOIDLI [HEVET IOMMID GBS EHET &GHTHTT HLHIGH6T QFWOLBSSH
SUIHPHTEH T OGS

(A) Feps CoeameuseT WG UL L 2|e01@Lnenm

(B) epCeumuml HLL 261G (LM M

(O) CdmHa BLb 2eDIG WD

(D) eLpGoumimu GLO6VITEIOTEMLD 3 6T0T(S (LD 60

(E) aflev Qsflwaievemev

24. The prime duty of the Central Health Education Bureau 1956 as in
(A) Free Health Care Service and activities
(B) Health education in primary level
(C) Health for all
(D) Coordinate and promote health education through various divisions
(E) Answer not known CCSE1P/2024
1956-6V IDGH U F&HMSHTTE &H6L6N LI6ool WSS 60T (NS ETenLNE &HL_60Ln
(A) @QevausF &&EMTHTT CGFemnel LDMMID QFWLITH&6T
(B) @LuwL Blemey - &&HTHTT Hevell
(C) semeTaUB&HGLD 2LCTTHSIWILD
(D) uevBeumi Liflayserfledr eLneuld &&MS TS Sevailen U 62([H MBS 60600TS &l GLOLDLI(H &I SIS 6V
(E) aflev Qsflwaievemev
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25. What is the recent addition to the existing family of AYUSH system?

(A) Reflexology (B) Sowa Rigpa

(C) Naturopathy (D) Accupuncture

(E) Answer not known CCSE1P/2024

AYUSH 9iemwliler &Ghwussev FLSLSH 6 CFIEHLILLL (LNenm UMSE?
(A) FllQevsevermeveldl (B) G&meu iflesum

(C) @umens WBSSIaID (D) @166LUEHET

(E) ellevL Qs fluelevemney

26. Under Chief Minister’s Girl child Protection Scheme an annual incentive of Rs.
is given to the girl child every year from the 6t year of deposit in order to meet education
expenses, the value is

(A) Rs. 1,000/~ (B) Rs. 1,200/~
(C) Rs. 1,800/- (D) Rs. 2,000/~
(E) Answer not known CCSE1P/2024

WHLMFFHT QL6 GPhHensd LUMSI&GTUL SHLLEHaT S HevalldF QFea6|seme6rT
FHOFUMSNHHTEH RIQ6ITIH 2b60T(HID QLI GWHMNSHESG MalILS 65Tend U6t
66u3 21,600T(H (NS QULPEISLILGILD UBLTHH T 2618856 5 Met) & U 60T DG LIL|

(A) em. 1,000/~ (B) em. 1,200/~

(C) em. 1,800/- (D) em. 2,000/~

(E) ellemL Qs iflweilsvemev

27. Which Housing Scheme assures a house not only to the homeless slum dwellers but to the
urban poor, LIG and MIG categories?

(A) MUDF (B) TNUDP
(C) INNURM (D) PMAY(U)
(E) Answer not known CCSE1P/2024

TF 6T 61HS f (B uFH H_LInmersl ef_mm D&HHEHEHEG DL (HILD6VEVTSH H&HT FenLOS 6T
GMMIHS GUIHLOITETLD 2_6TeTaUIS6T LDMMID BHSSHT aUTEHS L0&5EHEHE @@ 5Ll 2 MG

QEFWRMSI?
(A) MUDF (B) TNUDP
(C) INNURM (D) PMAY(U)

(E) ellemL Qs iflwieilsvemev

28. Dr. Dharmambal Ammaiyar Ninaivu Assistance was given to which category of women?
(A) Poor Women Marriage Financial Assistance
(B) Nutrition Food for Women
(C) Widow Remarriage Financial Assistance Scheme
(D) Mariage Assistance for Orphan girls
(E) Answer not known CCSE1P/2024
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29.

30.

31.

LISGLE. STWTDUTET hennwmy Blenere 2.5l 6bhE eUensll QLIS EH8HG
QUPMRIGSLILL L I?

(A) gemLpll QLTS 6T H([HLo6tT 2 FHalls Q& Tem s

(B) QUETITEH @B GETET 26T L F&555 GemmUTLenL H&H8

(C) zemeu LDMIDETTD 256N &H06 & Ten 8

(D) @Lsraumm QLG0T 6T H(HLOEITS Q5T S

(E) e Qsiflwellevemev

Post Covid-19 Percentage of economic growth increased an constant price in TN
(A) 11% (B) 8% (C) 6% D) 5%
(E) Answer not known CCSE1P/2024

Gamaill. 19-m@& UM SWOIWLBITLIQ6T QUTIHETTSTT eUeTFFSH mlemevuwlmer allemsevuiev
FHeIsD 2 W HSE6Tensl

(A) 1% (B) 8% (C) 6% (D) 5%

(E) ellemL Qs iflweilsvemev

Which of the following is incorrectly paired?

(1) Child Helpline - 1098

(2) Women Helpline - 1090

(3) Cyber Crime Helpline - 1940

(4) Coastal Security Helpline - 1093

(A) (1) and (2) (B) (2) and (3)
(C) (3) and (4) (D) (1) and (4)

(E) Answer not known CCSE1P/2024

L edTeu(meusTelMMmlev 6T&l HaUMTEH @)60600Te & LILIL (H6TemgI?
(1) GLhHmsoeT 2 e erevor - 1098

(2) QuevtTa:6T 2 56N eTevor - 1090

(3) emsuUl Bempd 2 g6 erevor - 1940

(4) sLGempU UMsIsTLL 2 g6l eTevor  — 1093

(A) (1) LOoID (2) (B) (2) bpoid (3)
(©) (3) pmitd (4) (D) (1) wohmib (4)

(E) ellemL Qs iflweilsvemev

The goal of the Public Distributin system in Tamilnadu is to ensure to all citizens
(A) Food security (B) Equal distribution

(C) Social security (D) Economic security

(E) Answer not known CCSE1P/2024

SODBTLIG6T QUM BICWTES HIL LSS5 6T &nl&GaH meiT
(A) 2_eooT6y LIMSISTLIL] (B) &0 allBIGWIMTSS LD
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32.

33-

34.

(C) Fewps LUMHISHTLIL (D) QuUmT@meTTHTT LUMSHIS&TLIL]
(E) eflevL Qs fluelevemney

Read the following

(i) Dream Home Scheme for Tamil Scholars

(i) 15 cents of land free of cost in the preferred places in their native district
(iii) Tamil writers benefit through the scheme in Tamil Nadu

(iv) Only 5 cents of land for those writers

(A) (i), (iv) only (B) (i1), (iii) only
(C) (iii), (iv) only (D) (i), (iii) only
(E) Answer not known CCSE1P/2024

6UITE & UM 606 6U T &8

(1) semey @6Vevs G LD SLOlD S UIRITETISEHSH G

(i) sjeugeud WMl LBI&GL eursefler eN@LUULILG 15 Q&F6TL.  [BleVBGH6T
QUPHBIGLILI(HILD

(i) sl BITLIQ6Y, SO 6TWSSTETTHET @SS L LD eLH6VLD LIUI6Ten L5 60TM 60T T

(iv) slp IS TETIHEHEHE BHS QF6TL. Blevld aIPMEIGSLILIHILD

(A) (), (iv) L @D (B) (D), (iii) o@D

(C) (iii), (iv) L @D (D) (1), (i) L @D

(E) ellevL Qs flualevemney

Match the following reformist with their life period

(a) Raja Ram Mohan Roy 1.1858-1962
(b) Jotiba Phule 2.1842-1901
(¢) M.G. Ranade 3.1828-1890
(d) D.K.Karve 4.1772-1833
LNesTeupLd ETH) (556U TH &6 686 60T 6UMTLDIBTEHL 60T QLIMTHS S5
(a) pmeam b GLOM&H60T [Tl 1. 1858-1962
(b) Cxrgum uGe 2. 1842-1901
(c) erb.ggl geoTGL 3.1828-1890
(d) 9.65. &MTFGCe 4.1772-1833

@ ® @ @

A) 1 2 3 4
(B) 1 2 4 3
©) 4 3 2 1
(D) 1 3 2 4
(E) Answer not known CCSE1P/2024

Choose the correct one which is not included in Human Development Index estimate
(A) Life expectancy (B) Education
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35

36.

(C) Per capita income (D) Birth rate

(E) Answer not known CCSE1P/2024

wefles  euemidd GIWLR wHLUTL I CoFfssluLTs FflWmear eeaTenms
CaIHO&(H &H&6]D

(A) w6 er@gumyLiy (B) sevel

(C) eoflBUIT 6uHLOTEDTLD (D) YLy efsid

(E) ellemL Qs iflweilsuemev

Consider the following districts of Tamil Nadu

(1) Kanya kumari (2) Vellore

(3) Ariyalur (4) Coimbatore

(5) Tuticorin

Select the top three districts in Child Development Index

(A) (1), (2) and (3) only (B) (2), (4) and (5) only
(O (1), (3) and (4) only (D) (1), (4) and (5) only
(E) Answer not known CCSE1P/2024
FL&MTeIld SIS DMeUL LIS 66T &([HESH 60 Q& MeTs

(1) ssereflwm@ Lo (2) Gauguriy

(3) eiflwspry (4) CamwbLS ST

(5) 815815619

GLHms alemiFH GMIuTigev peiTeoflemeuuiley 2 _6Tem (LPS6V ELNETMI LOMRIL L &H606Ts
Qsifle) Q&S

(A) (1), (2) LOWID (3) LLEWD (B) (2), (4) and (5) L@
(©) (1), (38) O (4) LLEWD (D) (1), (4) and (5) L@

(E) ellemL Qs iflweilsvemev

P, Q, R, S, T and U are six members in a family in which there are two married couples. T a
teacher is married to a doctor who is mother of R and U. Q the lawyer is married to P. P has
one son and one grand son. Of the two married ladies one is a housewife. There is also one
student and one male engineer in the family. Who among the following is the housewife?
Aap (B)Q S (D)T

(E) Answer not known CCSE1P/2024

P,Q,R,S, Twmmiid U S CWMF e(h GOILOLISH 6T 6 2 miL1LN60T TS 6T. 26U iserlev @ reoor(h)
FLoevoTIOMEOT HLOLISWT 2 6Temeory. T eTedtiou e(h A i nmmild ojeuf R nmmuin U
-60T SITWITTTET LO[HSSIEUNT LD6OTTHE G &HTeooT(H6TaTT. Q 6TedTLIT 62(H FLL QUGLSIBIT,
Gaild oj6uy P & neoors gl Q& mevor(h 6Ty, P 6T6oT LIGU[H & & 6p(Ih L0S60T LOMMILD 6p(H GLIT60T
o _6TemeoTy. @@ H(IHLOGOTIOMET GLIctorg6tlev e@@euy el g6y @LiLeld WmMbh NbHS
SOLUSHO @@ 6ooT QUITIWTETT WMHMID 6@ LOTETTEU 2 6TemeT.  6T6ufley
FELp& s evorLallsetlel wmi afl 1960 @& @D GlLievor?

AP (B)Q S D)T
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37

38.

39

(E) ellemL Qs iflwellsvemev

IfA=Z=1,B=Y=2,C=X=3,.... Etc.

(A)M =N (B)M+N=L+0O+A+7Z
(COOA+B+C=X+Y+Z (D) E, G, J are prime numbers
(E) Answer not known CCSE1P/2024

A=7=1,B=Y=2,C=X=3,.... Etc

6T6ufl6V 6T&I HEUMTEOTSHI?

(AAM=N BM+N=L+O+A+7Z
(COOA+B+C=X+Y+Z (D)E, G, J eredTLI6mGU LIGIT 6T600TSH 6T
(E) ellemL Qs iflweilsvemev

A does 20% less work than B. If a can complete a piece of work in 7 % hours then B can do it

in

(A) 6 hours (B) 5 ; hours
©6 % hours (D)6 % hours
(E) Answer not known CCSE1P/2024

A erestaUl B eteoTLouemT L 20% GemmelTs Galemev LIMTTSESBMTY. (hH GeuemevemUl

A7% Lnevofl GBS H6L (LG LILITTTeTTeL B eTeueuere] GHILD eT(LILITE?
(A) 6 evofl GBI B)5 % 6ol GBIy

©6e6 % Lnevof] GBI (D) 6% Lnevofl GBI
(E) ellemL Qs iflweilsvemev

If 4 men can complete a work in 3 days and 3 women can complete that work in 6 days, then
which one of the following is not true?

(A) 8 men and 6 women can complete the work in one day

(B) 6 men and 8 women can complete the work in one day

(C) 12 men can complete the work in one day

(D) 18 women can complete the work in one day

(E) Answer not known CCSE1P/2024

2 CoUEmELENI 4 L600TGEH6T 3 BITL_&G6rl6 (NI LILIT IMmMID CH Calemneuenll 3 G\LIGTITS: 6T
6 BITL_Serflev (WL LI eTevflev LI 6dTeu (H6U60TeU M MIET &6UMTETSl 6TSI?

(A) 8 9L600T&H6T LDMMILD 6 GILIEDOTSH6T 6GIT HITer el Geuemevem (LY LILIT

(B) 6 9y600T&H6T LDMHMILD 8 GILIEDTSH6T 6B HITer el Geusmevem (LG LILIT

(C) 12 9YL6e0TG6T 9 HS Calemevemil Gy Hmerflev (LIGLILIF

(D) 18 QUetOT&: 6T 91H% Geuemeveml G HTerflev (LIg LILIF
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(E) ellemL Qs iflwellsvemev

40. The area of circle increased by 66 sq. cm. If its radius is increased by 1 cm. Find the area of
new circle
(A) ; X 103 (B) % X 93
((8)) % X 113 (D) % X 123
(E) Answer not known CCSE1P/2024
QAL LSRN 9rbh 1 0515 9&sfleEelh Guma el LHer ugly 66 sy Q&8
P& ERMS. UG W Ul LSH60r LITLIL| &HIT600TSH
(A) % X 103 (B) % X 93
© ; X 113 (D) % X 123
(E) ellemL Qs iflweilsvemev
41. The population of a town is increasing at the rate of 6% per annum. It was 238765 in the year
2018. Find the population of the year 2020.
(A) 286726 (B) 268276
(C) 212500 (D) 286722
(E) Answer not known CCSE1P/2024
R BEHISHH 6V LDG&HGEHET QG TS L60T(HES 6% ABH &GRS, 2018 QLD y,600T(H) D& SH6T
Q&Tem& 238765 91,85 Q) (HHSHSI. 2020 LD 2L600TIQ 60T LS EHET GFHTENSHEMWIS &IT600TH
(A) 286726 (B) 268276
(C) 212500 (D) 286722
(E) ellemL Qs iflweilsvemev
42. If the Simple Interest on Rs. 20,000 be more than the Simple Interest on Rs. 15,000 by
Rs. 3,000 in 5 eyars, the rate percent p.a.is?
(A) 9.8% (B) 10% (C) 12% (D) 12.5%
(E) Answer not known CCSE1P/2024
5 94,650T(H 861160 &6V . 20,000 GLD6V 608G LD &6vfleuLl 1 UITETSE! &6V eh. 15,000 GLO6V
FenL &G Heofl eul1qemnl il ep. 3,000 H LD 6Tevflev oyev0T() QUL 6F&LD &TevorTds
(A) 9.8% (B) 10% (C) 12% (D) 12.5%
(E) ellemL Qs iflwellsvemev
43 W r=Jand o =2

Then findx:y:z

(A)4:15:4 B)g:15:2
©)3:4:7 (D)4:13:2
(E) Answer not known CCSE1P/2024

www.vetriias.com 9884421666/9884432666 14



http://www.vetriias.com/

44.

45-

46.

6x+2y=3|_mj)gu_b x+z _3
3x+4y 4 2x+3z 7

6T60TI6V X Y : Z &3 &IT6U0TS

(A)4:15:4 (B)4:15:2
©)3:4:7 (D)4:13:2

(E) ellemL Qs flwellevemey

The LCM of three different numbers is 120. Which of the following cannot be their HCF?
(A)8 (B) 12 (©) 24 (D) 35

(E) Answer not known CCSE1P/2024

eLNGOTMI 6T6v0TSs 6T 160T LY.&).10. 2L,60T&Hl 120 6T60fl60 QHBMT(HESLILIL L 6T600T6o0l 16V 618 LS.QILIT.6.
A& Q) (HSHSH QUIVTHI?

(A)8 (B) 12 (©) 24 (D) 35

(E) ellemL Qs iflweilsvemev

Ifa=22x33

b=32x53

¢ = 52 X 23then find the value of

HCEF (a2, b3) + HCF (b2, ¢3) + HCF (c2, a3)

(A) 36 + 26 + 56 (B) 39+ 29 + 59
(C) 23+ 36+ 59 (D) 53 + 3 + 29
(E) Answer not known CCSE1P/2024
a=22x 33
b=32x53

¢ = 52 X 23then find the value of

erevflev LO.QLIT.6 (a2, b3) + W5.Qum.el (b2, ¢3) + WW.QuT.6a1 (c2, a3) 6T DG LIL| &T600TS
(A) 36+ 26 + 56 (B)39 + 29+ 59

(C)23+30+5° (D) 55 + 3¢ + 29

(E) ellemL Qs iflweilsvemev

During one year, the population of a town increased by 5% and during the next year, the
population decreased by 5%. If the total population is 9,975 at the end of the second year,
then what was the population size in the beginning of the first year?

(A) 9,500 (B) 10,500 (C) 9,975 (D) 10,000

(E) Answer not known CCSE1P/2024

@M GOIUILL aBLSEH @ BHISH 6N In&H&H6T QFTmd 5% AH&FEHMS. Gl
BHG 2AMSHS UBLSHV WDEHESHET QFTOE 5% GODH DS @) T600TLTOUSI 26007 g 60T
WIgeN6l QOMES NESET QTS 9,975 6T60flel (NSHEVTD ILETITIQ6T QST &S5 60
D& 6T QG TN 6T6URIETE?

(A) 9,500 (B) 10,500 (©) 9,975 (D) 10,000
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47.

48.

49.

50.

(E) ellemL Qs iflwellsvemev

What fraction should be added to the sum of 5 % , 4 g ,and 7 g to make the result a whole

number?

1 2 3 4
(A5 (B) © D)
(E) Answer not known CCSE1P/2024

3 4 . . 3 . . . . . . . .
5,47 DODD 7 < @eumNeT FahSYLET 67HS LNeTesenss Fal L HS @G PW
6T600T600T T@&LD?
1 2 3 4
A B) 5 © 5 (D)~
(E) ellevL Qs fluelevemney

The causative organism of Whooping Cough

(A) Bordetella pertussis (B) Diphtheria antitoxin
(C) Streptococcal pneumonia (D) Salmonella paratyphi
(E) Answer not known CCSE1P/2024

&H5G6UMT6T @) [HLOEM6V 2 (HeUMEH G GBI &Ll

(A) UTFIEQLeveLIT QUL (Hendlerv (B) 1quSHlwim 600719 L& G 6T
(C) eQLLIGLMSHME &6V BILDGLOmeoflum (D) Fmeu@m@eoreveu LIMFmemL LI
(E) ellevL Qs flualevemney

The major practice involved in Rote learning is learning by

(A) In-depth subject (B) Concepts

(C) Repetition (D) Higher order thinking

(E) Answer not known CCSE1P/2024

QUITIHET 2 600TIMNEY SMHMEN6L (NEH W HemL (LNeWTES G HLILIS &HMHM6Y
G

(A) UTLSH6mS SLLPLOMTS (B) &5 s15H6m6T

(C) WSevor(h\LD (D) 2wy Mm@ Fib G 60 60T

(E) ellemL Qs iflweilsvemev

Plants that endures best at lower light intensity are called

(A) Heliophytes (B) Halophytes

(C) Sciophytes (D) Sporophytes

(E) Answer not known CCSE1P/2024

Gombhs eefld  QFmlealdd FMULTSEE QFWOLGL STaUJHISG6eT  @6Uelmml
S|MLPEHEVITLD

(A) anjeSlGwiImemLIL_(H &6 (B) ammGeumemLIL_ (& 6T

(©) WM smLIL_(H 86T (D) envGUMTGrmemLIL(H 86T
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(E) ellemL Qs iflwellsvemev

51. Earth’s surface reflects back a portion of the solar radiation is

(A) Albedo (B) Wave
(C) Climate (D) Meterology
(E) Answer not known CCSE1P/2024

wdlulledr Gumurliumey &Gl &HFefEFar e UGS Wb HNrsHueissliLibhesgl
@6UalTm SeMPHSILOKSMS

(A) apevl9GLT (B) sjemev

(C) ssmevmlemesv (D) sumenflemevuliluley

(E) eflevL Qs fluelevemney

52. Mantoux test is used for identify Disease
(A) Malaria (B) Tuberculosis
(C) Cancer (D) Diphtheria
(E) Answer not known CCSE1P/2024
LDITEDTL_IT&610 G&F TS5 60)60T GrBmenl Heoor(HLI96H85 2 56BN Ml
(A) wGeurlwum (B) &sm&Gmmul
(C) UDDGBMUL (D) g uSrlwim

(E) ellevL Qs flualevemney

53. Eutrophication leads to the death of fish due to
(A) Increasing O. Content
(B) Increasing CO.content
(C) Decreasing Algae content
(D) Decreasing O. content
(E) Answer not known CCSE1P/2024
WL GrmUGsaqenflermey WeofledT @MLUIL|E @ SMTFeuoTLONg @)\ (HLILSI
(A) euseilger ooty B SKHILILIS
(B) ssmiuetenL. L858 [H 3j6T6] AFH&fLILS
(C) UMH\&:6iT eT6vOTEO0N &60V 8 (H6EMM6U S
(D) <up&erileggetr o6 Gemmealg!
(E) aflev Qsflwaievemev

54. Which of the following observations are inertial?
(A) A passenger in a train which is slowing down to a stop
(B) A driver in a car moving with a constant velocity
(C) Anpilotin an aircraft which is taking off
(D) A child revolving in a merry-go-round
(E) Answer not known CCSE1P/2024
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GG MemILD [B1&LD6)| S 6rfl6V 6T Blemeulnin?

(A) QUgITSE BEHETHIS QF6TM BIMSH Fnlqll @H GHTIEU60TIQUNE 2 6T6rT Lilevof]
(B) mlemevwimeor GeusgH 6L QF6uavld &Tler L (BT

(©) 2wy el LUM&EE LD alnmeTs S 60T edlnmeot]

(D) prii&s grligerg@len &mHmib @b GLhensd

(E) e Qsiflwellevemev

55. The article that states the role of scientific temper is

(A) Article 35 A (B) Article 51 A

(C) Article 32 (D) Article 14 A

(E) Answer not known CCSE1P/2024
gnleflwev werplemev (scientific temper) LM o mild FLLLlfley
(A) sl Lu9fley 35 A (B) s fley 51 A
(O) sLLulifley 32 (D) sl Luffley 14 A

(E) ellemL Qs iflweilsvemev

56. Choose the wrong match

(1) Kapil Kapoor - Literature and Education

(2) Deepak Dhar - Science and Engineering

(3) Lakshman Singh - Literature

(4) Vadivel Gopal - Music

(A) (1) and (4) are incorrect (B) (3) and (4) are incorrect

(C) (1) and (2) are incorrect (D) (2) and (3) are incorrect

(E) Answer not known CCSE1P/2024

SHEUMITEOT @) 60 600T60) U1 &5600T LM &5

(A) sl LT - @6V&HE WP, SHevelluLd

(B) gus sy - S lellwisviind, Qummlulwisyid

(C) & aqLneoT B - @6vsH WD

(D) au1qGeu6v B&ITLIMEL - @ens

(A) (1) LODID (4) LLELD SeuMTETSI (B) (3) wpoitd (4) LG Seummesra
(C) (1) oI (2) LLEWD SeuMTETS! (D) (2) pmitd (3) LLEWD SeumTerS

(E) ellemL Qs iflweilsvemev

57. Which age category as consider for youth as per National Youth Policy 2014?

(A) 13 — 29 years (B) 15 — 30 years
(C) 13 — 35 years (D) 15 — 29 years
(E) Answer not known CCSE1P/2024

2014 -1b 9y,e00T(H) CHHFWI @) 6m6TEh T G & MeiTet & WIN6ITLIL. @) 606685611 60T 6TH & eulSIL Lilifley
&HHESH 6L Q& meTaT ILIGSH MSI?
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58.

59.

(A) 13 — 29 euwi gLl LNifley (B) 15 - 30 auwigiLl Lifley
(C) 13 - 35 euwigiLs Lifley (D) 15 - 29 auwigits Nifley
(E) ellevL Qs fluelevemney

Which among the following measures is/are taken by Government of India to combat
corruption?

(i) Direct Benefit Transfer Initiative

(i) E-tendering in public procurements

(iii) Discontinuation of interviews in recruitment of Group ‘C’ post

(A) (i) only (B) (i) and (ii) only
(C) (1) and (iii) only (D) (i), (ii) and (iii) only
(E) Answer not known CCSE1P/2024

2aTpemey RIS GUTITL  NeTau@®Bld BLaI&HMESL @HHW  ATFTE
T(HHEHLILILL I 6TSI/6eTen6U?

(i) Gy uesor LflMOHMOLD

(i) QU Q&TETWNSHS6 @)-Q LT[

(iil) @emLl ‘C LGN GSHTeT L CFTLILGETET CHJ & TeuTen 6V BlmMISGSH WS

(A) (i) LL@LD (B) (1) wmoub (i) bl @b

(©) (1) mouib (iii) L @D (D) (@), (i1) wmmuid (iii) L GID

(E) ellevL Qs flualevemney

Consider the following statements, choose the correct answer

(i) G20’s Constitution is a formal document

(ii)) G20’s Governance is based on the principles of Consensus

(iii) G20 Inclusivity and Representation is the basis of the Presidency
(iv) G20 Respect for unity; rather than sovereignty

(A) (i) only correct (B) (ii) and (iii) only correct
(C) (1) and (ii) only (D) (iii) only correct
(E) Answer not known CCSE1P/2024

GG 600TL QUITEHG UIMBIGHEM6T &H(H&IS, Fiflwimer allemLemuwl CHIHOSH &5

(i) G20 - BTG &efler 9FFIUENDLILIMTETS 61F (L6 MUITEOT 2,6 600TLOITE LD

(i) G20 — BMMseflear FBlHaUTEHETETE RMMLIGESH QSHTETENSHEHET (I LILIMLUIMTSS
Q& IT6uoTL_Z)I

(iii)) G20 —@6o0T&:&1D 6TedTM GSHITL LML MTevmenTdl 2 aTeTL &SR uNBLILSD, LIFHBISH & Sieuln
9| BH60T H6EMEVEDLNESHITEOT 1 LILIEDL_&HEIT TG LD

(iv) G20 —@mHmIn&CsH FIWIM S, @) 60 M UITETENLNEE 2606V

(A) (iv) b Frflwmers (B) (ii) bnmomuid (iii) LG sFflwmers

(©) (1) moitd (ii) L@ siflwmergl (D) (iii) @b Fflwmers

(E) ellemL Qs iflweilsvemnev
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60. Reason and Assertion type :

Assertion (A) Khel Rathna Award — 2024, was  also given to Mohammad Shami.
Reason (R) : This award was awarded by Anurag Thakur, Ministry of Youth Affairs
and Sports.

(A) (A)is false but (R) is true

(B) Both (A) and (R) are true

(O) (A) is true, but (R) is false

(D) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(E) Answer not known CCSE1P/2024

Fn MM LDMMILD SHIT6E00TLD UM

Famm (A) : 2024 G&6V FH T all(h& HiflGQs&L fJF W&WLE FLOl&GLID
QUPMRISLILLL S
&mgeoord (R) : @Qbs S ener IDSH W GeneTehi WMmmiD ellemeTwml(H& SHenm

SMNFFT ST MTEH ST QULPBIG6TT
(A) (A) seuai (R) &1l
(B) (A) wpoib (R) @resor@id &1,
(©) (A) &1l @peormen (R) Seum
(D) (A) mmmiid (R) &, apeormev (R), (A) &@& siflwimer ellengain @) 60em6y
(E) allemL Qsflwailsvemev

61. Assertion (A) : Organic farming is becoming increasingly popular as if protects the
environment.
Reason (R) : Organic farming based agricultural system that uses ecologically

based pest controls and biological fertilisers derived from animal
waste and nitrogen fixing cover crops.

(A) (A)istrue but (R) is false

(B) Both (A) and (R) are true and (R) is the correct explanation of (A)

(C) (A)is false, (R) is true

(D) Both (A) and (R) are true but (R) is not a correct explanation of (A)

(E) Answer not known CCSE1P/2024

Famml (A) : &Iflln GauemmeooremnUileyd @GLo6L LIMSIGTSESLIG6UST, QLBSIW
wenmuilev IFueemLBS aUBRMS

&myevortd (R) : FHMFGSGLPO QLiLemulevmer LEFRE sLOLUUTHSET WmmiD
alevmBIG s &6 56T LnMMILD 6MBL_TE6M60T HleneLBlMIS SN
Lwiliserflev @@bE QuUMLILILL 2 ulifliey 2 FhigGenerLl
LWeTUG S SID @uimend CaueTmeuoTemln 1 LiLiemL_ulevmest
afleuaFmuwl (emm

(A) (A) 2_evoremin gyeormeL (R) seummeors

(B) (A) nmmiib (R) @resor(®ib 2_evoremin tnmmitd (R) etedtLIg (A)-60T Siflwimeot eNlemg&sLn
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(C) (A) saummeors (R) 2_svoremin

(D) (A) wmmidb (R) @revor(HLd 2_600T6mLD SIT60T, 21,6016V (A) eTedTLISM S (R) & iflwimeor
6T 5D @)6Vemev

(E) aflev Qsfliualevemev

62. Find out the incorrect statement about 2024 — Padmashri awardes Dr. Narayan Chakraborty

(A) Heis from West Bengal

(B) He significantly contributed to the field of environmental health and safety

(C) His research primarily focuses on remediation and treatment of arsenic poisoning

(D) He had been conferred Padmashri Award (2024) in the field of Medicine

(E) Answer not known CCSE1P/2024

2024 1D SL600TIq M&TeT LGOS ell(h& QUMM (LemeTelly. HITITulevor F&TUTSS Limmlul

HEUMITET FnMemnM &6voT(H LI &HFHeLD

(A) sj6u CIOMEG UMBIGTENSHMSE C&FIHSEH 6T

(B) 9jaul &HMIFGSGL &FSEMHTIL WMHMID UTSsTlLS Sonulley &IIUILE555
LIMGIS 6T S 6TEIT T

©) sjaurs SUIMUFR Wisallsds BEHSHaTenUWEr Fiea LMHMILD FHFaoFamul
(NGHETEMLOWITEH & 685 T600T LSl

(D) slu®sE 2024 1D SyeorgheTer LS  eGg  LGSSMS  Sempuiley
QUPMRISUIULL S

(E) ellemL Qs iflweilsvemev

63. In which hills of Mehalaya, ‘Geological Survey of India” (GSI), discovered ancient fossils?

(A) South Garo hills (B) East Khasi hills
(C) West Khasi hills (D) Jaintia hills
(E) Answer not known CCSE1P/2024

@peHW Lalulwe Spile] emwowid, CU&sTeuwmaley 6hHs S WWemevUle)  LILPEmLOUIT6oT
LS 6US 058 86001 MBS SI?

(A) Q3BMHE& CEHCIIT LDEMEVSHET (B) 5@ &TH DMV &6T

(C) GMH® &TH LDEM6VGH6IT (D) 6m8260T1Q.WIIT LDED6V G 6T

(E) ellemL Qs iflweilsvemev

64. Dust particles from thermal destruction of wastes can be prevented from escaping into the air

by using

(A) Air conditioner (B) Bioreactor

(C) Ventilator (D) Electrostatic precipitator
(E) Answer not known CCSE1P/2024

sl LIoumpLsefler Qeallill AWaNeddhg 2 (halMTGLld STF HiG 61T
eLpeVLD BTMNIEL HVLILIM S S &(H&HSHEVTLD
(A) gefljamgeor (B) 2 ullj2_emev
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65.

66.

67.

(C) Zreunmes s mal st (D) Wermlemev ellemyey, s
(E) eflevL Qs fluelevemney

Match correctly the disasters with their corresponding characteristics

(a) Volcanic eruption 1. Violent wind
(b) Cyclone 2. Submarine earthquake/landslides
(¢) Tsunami 3. Desertification
(d) Drought 4. Magma
GUTLHleY & em6T UMM QSTLITLjemL W Li6oorL|&EHL 60T FIlWMSEL QUTHSS|LD
(a) etflinemev Qeulg LiLy 1. S\ eMLDWITET SITMHmI
(b) @mmeuerl 2. &LV BB & 80/ Nemey
(c) < bl GuUFemev 3. LITED6V6U 60T LD TEH &6V
(d) aupL& 4. UMemms& @GLLDL
@ b @©© @ @
A 4 1 2 3
(B) 3 2 1 4
© 3 1 2 4
(D) 2 3 1 4
(E) Answer not known CCSE1P/2024

Which of the following statements are true in respect of laterite soil?
(i) This word is derived from Greek

(i1) This soils are rich in Iron and Aluminium

(iii) Poor in nitrogen, potassium and lime

(A) (i) only (B) (i) and (iii) only
(C) (ii) and (iii) only (D) (i) and (ii) only
(E) Answer not known CCSE1P/2024

FreneTnevor LIMMIw LNeTel(hLd dommigerflev 61al &iflulmeorai?

() @bBs auMjsmawrarg HErss QLMAluien @mha b

(1) @56 @b mHMID Sevldleflub F&HFH ANFHHIDMS 2_6TeTS

(iil) @& 6L MBLJR60T, QUITLLITHIWILD LDMMILD Sr600T600T TLDL| (& 6MMEUTS 2_6TeTS)
(A) () @b (B) (1) ommitb (iii) @b

() (i1) wmmiib (iii) LG (D) (1) wmoitb (ii) LG

(E) ellemL Qs iflwellsvemev

The river which has the largest basin among the following inIndia is

(A) Godavari (B) Kaveri
(C) Mahanadi (D) Krishna
(E) Answer not known CCSE1P/2024

LNetreupld @HH W HH &HEH6T AHF&H MMILILIHEM& W 6\ & Te0oTL Sl
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(A) Gamsmeurf (B) &sm@eurfl
(C) waerBS (D) @ @meqevorm
(E) ellevL Qs fluelevemney

68. The Norwesters bring about 50 cm rainfall in

(A) Assam (B) Odisha

(C) West Bengal (D) Karnataka

(E) Answer not known CCSE1P/2024

BTTQ6U6VLIT, 50 Q& LS emp 1 UITSlenel QL&T6 SHHMS!
(A) o4&mibd (B) @qem

(C) GIoM©® QUMBISTETLD (D) &syBIL&sLD

(E) ellemL Qs flwellevemey

69. Which of the following pairs are correctly matched?

Tribe State

(1) Limboo (Limbu) - Sikkim

(2) Karbi - Himachal Pradesh

(3) Dongaria - Odiya

(4) Bonda - Tamil Nadu

(A) (1) and (3) only (B) (2) and (4) only

(©) (1), (2) and (4) (D) (1), (2), (3) and (4)

(E) Answer not known CCSE1P/2024
GG 60T eUMMIET eTemed Fiflmg QLITIBHS) U 6TermeoT

@) eoTLd LOMBleVLD

(1) 6SbGuUT jevevgl SlbL — F &S

(2) &5l - @urFFell LNFGsH &L

(3) Gmmmismlwm - @urggeull NyCsah

(4) GumevorLIT - 6LQ UIIT

(A) (1) woHouid (3) LLBILD (B) (2) wpouid (4) LLGILD
(©) (1), (2) oo (4) (D) (1), (2), (3) wbhauid (4)

(E) ellemL Qs iflwieilsvemnev

~70. Dakhni literature was patronised by the Qutb Shahi Sultans of

(A) Golkonda (B) Bijapur

(C) Ahmednagar (D) Bidar

(E) Answer not known CCSE1P/2024

ST&HR 6ofl @eVEHERUILD GSIL Qq TS 5605 MeoT 3,6V 9 5H&EHELLLLGI
(A) GameLQIBsMevOTLIT (B) WLy

(C) 9151081 &I (D) Sy
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(E) ellemL Qs iflwellsvemev

=71. Choose the correct answer
Assertion (A) Bahman Shah attempted to exact an annual tribute from the State of
Warrangal, the Reddi Kingdoms Rajamundry and Kondaveedu
Reason (R) : This led to frequent wars
(A) (A) is correct (R) is not the correct explanation of (A)
(B) (A) is correct (R) is wrong

(C) (A) and (R) are wrong
(D) (A) is correct, (R) is the correct explanation of (A)
(E) Answer not known CCSE1P/2024

Frflwmer allemLemws CHTHASMH)

Famm (A) : UMeT aqm &G FflUmss SMEHEGH60 QSTH\SS! UTTMHIS )
WOHMID QLY ST&&ermer TrwBbH ], QsmerLeih <L) uler
1551 2B &H&HD QFNSH UETHCHTUID HenD AFSH
MEUSSITIT

&myevorld (R) @3 9196619 CUTTHET gMHLL el G55

(A) gamo (A) &ifl, smyevorid (R) sammr (A)-ellh& Frflumest aflemd: L6t

(B) ammo (A) &, &smgevorid (R) saum

(C) smmmi (A) eyb smyesorid (R)-1D Seaum

(D) gammi (A) &ifl, &smyevorid (R) sammi (A)-er Fiflwimest eflend:&LI0ME&LD

(E) efenL @sflweNcueney

72. The second founder of the Maratha Kingdom war

(A) Bajirao (B) Balaji Bajirao

(C) Balaji Viswanath (D) Madhavrao

(E) Answer not known CCSE1P/2024
LITLIg W CUITH6T @ I6evorL_aUS! Bl mieleory

(A) urgdlymey (B) umeuredl Limegdlyme
(C) umeurred] elervEUBITS (D) rseurymey

(E) ellemL Qs iflwieilsvemnev

73. Arrange chronologically-conquests of Akbar

(1) Kashmir (2) Kabul

(3) Qandhar (4) Ahmednagar

(A) (1), (3), (2), (4) (B) (2), (1), (3), (4
(©) (1), (3), (4), (2) (D) (3), (2), (4), (1)
(E) Answer not known CCSE1P/2024

&UIfleT LemLQWBLIL QeummlseneTs &mevalflensliLbh &S5
(1) smaqLsy (2) &smyev
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(3) BsHEaOT (D) siamwngbBesI
(A) (1), (3), (2), (4) (B) (2), (1), (3), 4
(©) (1), (3), (4), (2) (D) (3), (2), (4), (1)
(E) ellemL Qs iflweilsvemev

=74. In the Sultanate rule, the Prime Minister was known as Wazir
1. He was primarily the head of the finance department called the Devani-i-Wazarat
2. He was in a position to supervise only the income and expenditure of the department
Which of the above statements are correct?

(A) 1 only (B) 2 only
(C)1and 2 (D) None of these
(E) Answer not known CCSE1P/2024

Feugmeflwserfler ol Aulley, NTsd LHE] T F eTeoTm S 6MLPHSHLILIL LT

1. Heurmell-@-aeFmyng aermMenpGELLILL BIHS SMMEGG UTSTET HeneValTMeHE
QEFWeeLILLITH

2. SenmWIsETET aT6e] QF6V6 5 85600Td &8 em6m GLMUMTTameUUIBOWD QL &S mBSTT

GLMEn MW T MMIGH6TI6L eTem6 &l WLITEoTEm 6 ?

(A) 1w (W (B) 2 bL_(hLD

(CO)1wmmind 2 (D) @aummlev g&idlevemney

(E) ellevL Qs flualevemney

75. Choose the right matches among the following

(1) Aryabhatta - Aryabhatiyam

(2) Varahamihira - Hast yayu veda

(3) Brahma Gupta - Brihat Samhita

(4) Vagbhatta - Ashtanga Sangrah

(A) (1) and (4) are correct (B) (1) and (2) are correct

(C) (2) and (4) are correct (D) (2) and (3) are correct

(E) Answer not known CCSE1P/2024
GLpaevorLeummieT FHIWMSL QUTBHH WSS CoHTa] QFUIS%

(1) sufluulLy - <l umiguith

(2) augmamAS Ty - ammen wmu| Geugm

(3) WybwLGLUsST - L®&s Fbansn

(4) eumssumLLmT - |6 LITHIS FBIGTT

(A) (1) nmmiid (4) Fiflwmerene (B) (1) mmmiid (2) siflwimereneu
(O) (2) npaid (4) Fflwimereneu (D) (2) whmitb (3) &flwimeoreney

(E) ellemL Qs iflweilsuemev
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76. Consider the following statements on State Information Commission.

Find out incorrect statement

(i) The Commission consists of Chief Information Commissioner and not more than
5 Information Commissioner

(i) The State Information Commissioners are not eligible for reappointment

(iii) The Governor can remove the State Information Commissioner

(iv) High Court Chief Justice is one of the members of the committee which recommends
State Information Commissioner

(A) (ii) and (iv) are incorrect (B) (ii) and (iii) are incorrect
(C) (1) and (iv) are incorrect (D) (1) and (ii) are incorrect
(E) Answer not known CCSE1P/2024

DBV HHaU6L peneooTwld LML SBLOGE0TL. SaMmIsGen6T &eUenfl. SHeaumimerelmemnm

&Hevor LMl &

(1) SLEMEITWID @M SOVEMD eI WMHMID NH&HHSG WSTIN SH&Heue)
9,60)600T LI T & 6M6IT Q& T600TL.(HE & Geuevor(hlLD

(i) wrmlev SHauew SLemeooriseT  Leoflulley wissLIULL  Nmg  Weor@b
LOBWDETSH NG &SSO CUITT {606V

(iil) OMTBleL H&HEUE 60 600T LN TLEBHT LGell B0 Q&uiul (OLU|LD

(iv) DBl F&HaI) UMEOTWUSSISES, emeoTwisemer Ufhamrs@Ehn SGwelle
LOMBleVEH 60T 2 WFHSH 06TM &Hemevenlo HHLIGU]LD e 2 miliNeori

(A) (i) wooid (iv) seum (B) (ii) o muid (iii) Seums

(©) (1) wpmuid (iv) Seum (D) (1) wpmuid (ii) Seumi

(E) ellemL Qs iflwieilsvemnev

77. A State Human Rights commission inquires into violations of Human Rights related to lists
enumerated in the

(A) State list (B) Union list
(C) State list and Concurrent list (D) State, Union and Concurrent list
(E) Answer not known CCSE1P/2024

orBlev eofls 2 iflemin gyemeoTwild, 6oflg 2 flemld LIMEL&HET QSTLITLIMET LIM6L & 606
aNerfles Ssevorl LILIQuIedley @ @hE GLMQSTETETEVTLD

(A) wrmlev LI IgUI6L (B) spetTndlu LI 1q UI6L

(C) nmpBlev LHMID QUG LILI1QUI6V (D) ormmlev, spedTm W LOMMILD QLIMG! LIL1QUI6V
(E) ellemL Qs iflweilsvemev

78. Match the following

Article Subject

(@) 124C 1. Seat of Supreme Court

(b) 125 2. Power of Parliament to make law
(¢) 126 3. Salaries
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(d) 130 4. Appointment of Acting Chief Justice

QUTBSS &

al& QUITIH6T

(a) 124C 1. 2 55 BHeTmEHSH 6T @HLILNL LD

(b) 125 2. FTLMEHL6TMSH 60T FL L AWM mILD HH ST
(¢) 126 3. 26T LIMI G 6T

(d) 130 4. @60LESHTeV Henevenld HH LIS Blullneorid

@ ® @ @

A) 2 3 4 1
(B) 1 4 3 2
©) 2 1 3 4
(D) 4 3 2 1
(E) Answer not known CCSE1P/2024

79. Arrange the following bodies in their chronological order of establishment

(A) Sarkaria Commission, Punchhi Commission, Rajamannar Committee, First
Administrative Reforms Commission

(B) First Administrative Reforms Commission, Rajamannar Committee,
Sarkaria Commission, Punchhi Commission

(C) Rajamannar Committee, First Administrative Reforms Commission, Sarkaria
Commission, Punchhi Commission

(D) Punchhi Commission, First Adminsitrative Reforms Commission, Rajamannar
Committee, Sarkaria Commission

(E) Answer not known CCSE1P/2024

LN6OTEUHLD 2, 600T6M LLITEISH 6M6TT, 60T 2 6mL0LILN60T &5mev aUflem&FLILILG. 6(LDMHIG 60N 85856, LD

(A) FisaTIlUm 9LememTWD, LLEFF SLemeooTWD, T3y G, (WPHV BHITeaTs
FTEHBHSS 24606007 WILD

(B) whs6L Bliauns FFHMHSS 2,6m600T LD, TTETETTT & (W, FIsHSTIIWIT 2560600 LD,
LLGHT) 24,60600T ULILD

(C) prWeTearTh LW, (NH6V BlFauTs: FTeHHTEHS, 2,60600T WD, FFHETHIWIT 21606007 WILD,
LLEHT) ,6m600TLILD

(D) UEHT SpeMETITWILD, (WL BIFUTS FIHMHSHS LEMEOTUID, TTRYLNGTEITT &L,
FUSSTIIWLT 94606007 WD

(E) aflev Qsflwaievemev

80. The Article which is not related to Chief Minister?

(A) Article 163 (B) Article 164
(C) Article 165 (D) Article 167
(E) Answer not known CCSE1P/2024

TR WevemnLILN6IT 6TH & IS 62 LDMHI6V (NG EVENLDEF & ([HL 6T QG TLTLI6MLUISH6V60?
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(A) 1B) 163 (B) 1@ 164
(C) 9% 165 (D) a9&) 167
(E) ellevL Qs fluelevemney

81. The word ‘Parliament’ is derived from the word ‘Parle’ which means to talk
(A) French word (B) Latin word
(C) Greek word (D) Spanish word
(E) Answer not known CCSE1P/2024

"UMITEBLOETMID” 6TeTeD Q&FMey, GUS 6TeoTm GQUITHeTLBISW "LmFGen”  ereirenlld
Q&ML BHE QUMDLILILL &I

(A) Worehs Quoml (B) evgHeor QoM

(C) ®a6r&ss Qumdl (D) envumestleq Qo]

(E) ellemL Qs iflweilsvemev

82. 1. The President of India is elected by the system of direct elections
2. The President of India is the Nominal Head of the State
Which of the above statement are true?

(A) 1 only (B) 2 only
(C)1and 2 (D) None of these
(E) Answer not known CCSE1P/2024

1L @bHw ReaTTHUS CHIWE GBS epeuld CHFHESH &&LILIGSEMTH
2. @BHW LaTTH UG QUWTeTellev STF 6T Hemevel QLeUTT

(A) 1 (b (B) 2 nL_(hD

(C) 1 mmilh 2 (D) @eaummlev gaiLdleveney

(E) ellemL Qs iflweilsvemev

83. Who called the Directive Principles of state policy as “a manifesto of aims and aspirations™?

(A) K.C. Wheare (B) T.T. Krishnamachari
(C) Sir Ivor Jennings (D) B.R. Ambedkar
(E) Answer not known CCSE1P/2024

T& QBMILMME QSMaTmM&ESEM6T "CHTH&BIGET IMHMID elenpe|seflar 9nl&Hemns”
6T60T | 6MLPSHSH6UT WITIT?

(A) G&.9). Gauwiy (B) 19.19. B\ BeIq 60T IDMEF TS

(C) 7 s6u QetTevfIMIeN (D) N.ouF. 9DCUS ST

(E) ellemL Qs iflwieilsvemev

84. Consider the following statements on Fundamental Duties.
Find out incorrect statement
(i) Paying taxes
(i) Safeguarding public property
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(iii) Preserving the rich heritage of the country
(iv) Casting the vote in the elections

(A) (ii) and (ii) are incorrect (B) (ii) and (iii) are incorrect
(C) (iii) and (iv) are incorrect (D) (i) and (iv) are incorrect
(E) Answer not known CCSE1P/2024

QLI SLeMNG6T LMMIW SnMMmI&Een6T &(IHSI8. HaUMITET Fu.Mnlemneor & 6ol Mo
(1) eauflsamneTr QNG SIS0

(i) QU QFNTSHIHEH6T LIMTHISHTSHS 60

(iil) @bHwmeler aueTnmeor LIMTLUF UGS CLI6ool 88 ME 560

(iv) CaIsa&eTl6 aUmdhserfls ey

(A) (1) oHayid (if) Heuy (B) (i1) womid (iii) Heum

(O (i) Haid (iv) Heum (D) (1) wood (iv) Heugy

(E) eflenL Qs flwailsvemsy

85. Identify the case which did not deal with the basic structure of the Indian Constitution?
(A) Kesavanan da Bharati vs State of Kerala, 1973
(B) Minerva Mills vs Union of India, 1980
(C) A.K. Roy vs Unin of India, 1982
(D) Golaknath vs State of Punjab, 1967
(E) Answer not known CCSE1P/2024
@QBHW STFlfear QLU SLLOWLLLET QSTLIIVTS 6l S emeor
86001 LM &
(A) Goaaumarhs LITTH eTH T C& 6T DMBlevld, 1973
(B) Wergeurm wilevenv eTH T @HS Wi epedrilLLILD, 1973
(C) g.Co. yml eTHFT @BH W speTMwILD, 1982
(D) ComMeLEBTS 6TH T LIGHFTLI LDMBI6VLD, 1967
(E) aflev Qsflwalevemev

86. The First Amendment incorporated Article in the Constitution of India in 1951
(A) Article 15(4) (B) Article 15(2)
(C) Article 15(3) (D) Article 15(1)
(E) Answer not known CCSE1P/2024
(WPSL TFWLIL HHSSLD — 1951 - eLO6VID @HS FLL 2 ML GFI&HSLILILL Sl
(A) 6918 15(4) (B) 61 15(2)
(C) %) 15(3) (D) 1% 15(1)

(E) ellemL Qs iflwieilsvemev

87. Consider the following statements and related to Janani Suraksha Yojana choose the correct
answer
(1) The Scheme was introduced to reduce maternal Mortality and Infant Mortaliy Rate
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(2) Itis 100% centrally sponsored
(3) Itis 100% state sponsored

(A) (1) and (2) (B) (1) and (3)
(C) (2) and (3) (D) (3) only
(E) Answer not known CCSE1P/2024

60760 | FIEng GUIMEZETT QST LML 6UTHS UIMISGHEM6TES SH(IHSH 6V G\&meor(h), &iflulimeor

aflemLenl CHIHOSHH &8

(1) wsuCLY @DUY RS O GLHs @@L HSEms GODULSHSHTS
TOUBSSLILLL G L LD

(2) 100 556f5 WSS W &ML BIG W G6

(3) 100 F56f5 WTHlL HTEFTEL HISH W GH6N

(A) (1) Lomitd (2) (B) (1) wmpmib (3)

(C) (2) LOmid (3) (D) (3) @b

(E) ellemL Qs iflweilsvemev

88. Which of the following schemes are about The Rural Electrification?
(i) Deen Dayal Upathyaya Gram Jyoti Yojana (DDUGJY)
(i) Deen Dayal Upathyaya Grameen Koushalya Yojana (DDUGKY)
(iii) Pradhan Mantri Sahaj Bijili Har Ghar Yojana (SAUBHAGYA)

(A) (i) and (ii) only (B) (i) and (iii) only

(C) (ii) and (iii) only (D) (i), (ii) and (iii)

(E) Answer not known CCSE1P/2024

G I LW 6TLOWILDITE & 56V 6T6T LIS @)h5 S L HIG&6r 16T eLn6uInMss Hen L QLM MIG Q& mevor(h
QGSH D

(1) Seor swimeT 2_LIMSWITW SKFmn CrsH L 1b

(i) eor swimeT 2 LIMTSWTW K Fmiler Q&HemgF6uUlT G LD

(iil) Yosmer wWHHF Fammsy L1965 amT &5 GUITR6oTT

(A) (@) wmmib (ii) WL HID (B) (1) tommitb (iii) oLl @i
(C) (i) wmoib (iii) L @b (D) (1), (i1) o (iii)
(E) ellemL Qs iflweilsvemev

89. Which of the following is nto correct abbreviation?

(1) RLEGP - Rural Landless Employment Guarantee
(2) SGSY - Programme

(3) CSRE - Sampoorna Grameen Self Reliance Yojana
(4) NREGA - National Rural Education Guarantee Act
(A) (1) and (3) (B) (2) and (4)

(©) (1) and (2) (D) (3) and (4)

(E) Answer not known CCSE1P/2024

LN edTeumeusTelmMeL 6181 HaUMSHEVTE QUIMIHSSLILL (B 6Tergi?

www.vetriias.com 9884421666/9884432666 30



http://www.vetriias.com/

(1) RLEGP - 26178 BleVIDMBMMTIHEHSHTET CGalemnen 2 mIF HL_L LD
(2) SGSY - FLDLLJ600T 2618 SrWLEFTHL S LD

(3) CSRE - ST W 26e1g8 CeuemevedmUILIL] S L LD

(4) NREGA - CxAW 26118 SHevadl 2 MGG FILL LD

(A) (1) woaid (3) (B) (2) pouid (3)

(C) (1) wOob (2) (D) (3) and (4)

(E) ellevL Qs fluelevemney

90. Deendayal Antyodaya Yojana is for

(A) Reducing rural poverty (B) Reducing infant mortality rate
(C) Reducting urban poverty (D) Increase agricultural production
(E) Answer not known CCSE1P/2024

F6oTEH UIMET ABHCUWMSWIT HILLLD 2 [(HeumH&LILILL &)

(A) 2a178 QUMIELDENIE H6MMES (B) 8&r ngeoor 6f55mM5 GHenME: 5

(C) B&ILILM eumIEnLDENE H6MMEHSH (D) Geuermevor 2_MHLISH W 3H&f55
(E) ellemL Qs iflweilsvemev

91. The motto ‘One Tax, One Market, One Nation’ is associated with

(A) Central tax (B) Corporate tax

(C) Goods and Services Tax (GST) (D) State tax

(E) Answer not known CCSE1P/2024

"G aulfl, G FHenS, GT BHIMTH" 6T60TM QLIMTETA LML 6T&H DL 65T QSTLITL|6mL WG
(A) wHHW eurf] (B) mlmeueor eurfl

(©) 5766 nmHmih Ggemel auifl (GST) (D) wrmwlev eurfl

(E) ellemL Qs iflwieilsvemnev

92. Match the following

(a) Fiscal Policy 1. Issue of Currecny Notes

(b) Monetary Policy 2. Rationing of Credit

(¢) RBI 3. Cash Reserve Ratio

(d) Credit Control 4. Taxation

L edTeu (LD alen&HenWl] QUIMTIHE SIS

(a) PIEP& Q&mmeTemns 1. BTeooT WIS SmeiTgerfler Qeusrflui()
(b) wevorellW6L Q& TETEN S 2. &L6T N BICWIMTSHLD

(¢) RBI 3. QUm&s @@L &SI

(d) sLeT sLGLuT@ 4. eurfl NS

@ b @© (@
A) 4 3 1 2
(B) 3 4 1 2
(©) 2 1 3 4
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(D) 1 2 4 3
(E) Answer not known CCSE1P/2024

93. Which of the following statements are true about the first five year plan?
(i) It was focused onagriculture and irrigation to boost farm output
(ii) It was based on the Harrod — domar model with few modification
(iii) It was followed the Mahalanobis model

(A) (i) only (B) (i) and (ii) only
(C) () and (iii) only (D) (ii) and (iii) only
(E) Answer not known CCSE1P/2024

WS BHESTOT(HS H L LSensL LM LeTel(hLD Fo.MmigerfleL 6TE 2 6toTemnLn?

(1) efeusmw o.musSHoWw AH&FEE alleugFmwid LMD BIUTFOTSH) SHalerTld
QEFNGSLILILL S

() @3 Hev WTHMBEIGEELET amTCrTL-CLTy wbrISHflenw QO LLLWTSS

Q& TeooTL_ S
(iil) s wammevBermLilev LMH Il KesTUMMUILL LS
(A) () L@ (B) (1) nmomitb (ii) L @GIb
(©) (1) moitd (iii) L @D (D) (i) wmomiid (iii) @b

(E) ellevL Qs flualevemev

94. Arrange the chronological order

1. Mitra Mela 2. Anu Shilan Samithi

3. Indian Home Rule Society 4. Hindustan ghadar

(A) 1-2-3-4 (B) 4-3-2-1 (C) 3-4-1-2 (D) 4- 2-3-1
(E) Answer not known CCSE1P/2024

FELpsevorLalmenm &ev alflensF iU &S5

1. NS T GoerTT 2. 9| Fovetr FLAG)

3. @h& W ereorTL &) 4. @Ml SIVSTET &SI

(A) 1-2-3-4 (B) 4-3-2-1 (C) 3-4-1-2 (D) 4-2-3-1

(E) ellemL Qs iflwieilsuemnev

95. In 1947 Indian National Congress agreed for the partition, because
(1) The principle of two-nation theory was then acceptable to them
(2) It was imposed by the British Government and the congresswas helpless in this regard
(3) They wanted to avoid large-scale communal riots
(4) All the above reasons

(A) (1) and (2) are correct (B) (3) and (1) are correct
(C) (3) only correct (D) All the above are correct
(E) Answer not known CCSE1P/2024

1947 -6 @BH W CHFAW SMHIFH TV &L LNflelleners @ eLILd Q8 meorLgl. 76 6orenfl6y
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(1) @ CsHFs CaHMTLUTH eUTEHETTE FMMISHE & TETETLILIL L S
(2) Iflleq opsme HleooflédasLIULL S LMHMID SRS T @b ellag s H ey
2 gellwhma!
(3) augser QUi emellevmenT aU@GLIL6UTS SHeveuTmiGeameTsallfes el LTy
(4) CLMHFnMIW S6M60TE S 55ITT600T IS EBHLD
(A) (1) ogd (2) &Fifl (B) (3) whoid (1) &1
(C) (3) LG &1l (D) simerg g &ifl
(E) ellemL Qs iflweilsuemev

96. Arrange the following events in chronological order

1. Government of India Act 1935 2. Gandhi-Irwin Pact

3. Communal Award 4. Cripps Mission

(A) 1-2-3-4 (B) 3-2-4-1

(C) 2-3-1-4 (D) 3-2-1-4

(E) Answer not known CCSE1P/2024

LN edTeu(BLD B1&HLD6)SHem6T SHTevelflemn&FLILIL. 62 (LD MHIS6eMLN& &6 LD

1. @QBH W T&ler FLLID - 1935 2. HMHH-@ Faller ellLBSLID
3. aGLILAINTS 515S0 4. Ffllien F1516E& W

(A) 1-2-3-4 (B) 3-2-4-1

(C©) 2-3-1-4 (D) 3-2-14

(E) ellevL Qs flualevemney

97. Which one of the following was proved to be an important association in Socio-Religious
Movement in South India?

(A) Prarthana Samaj (B) Arya Samaj
(C) Theosophical Society (D) Brahma Samaj
(E) Answer not known CCSE1P/2024

LNesraumeusoTalmmley Q6T @BEHWIMelley Fens NG QUIGHESH 0 @ (WNEH W FHIGLINTS
BlemLING&LILL L S 6T5I1?

(A) NgmigseTT FI0meLlh (B) &y flw Flomgld

(C©) NywhinEpmenT FemLl (D) Ny Fmeginh

(E) ellemL Qs iflwieilsvemnev

98. The National Civil Service Day is observed on

(A) March 8 (B) January 7

(C) May 11 (D) April 21

(E) Answer not known CCSE1P/2024

CHFW GL9.6mL0L LIeoollWIMeTF&H6T Heorld eTedTm) Heu&Ffl&&LILGSH M
(A) s 8 (B) s3evt6urf] 7

(C) G 11 (D) grligev 21
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(E) ellemL Qs iflwellsvemev

99. In which session of Indian National Congress the Song, Jana Gana Mana was First Sung?

(A) 1911 Session at Mumbai (B) 1911 session atDelhi
(C) 1911 session held at Calcutta (D) 1911 session held at Bihar
(E) Answer not known CCSE1P/2024

(NSHET (LNHEVMTSH "Q60T SH60T LD TedIld LMLV @BHWw CHFW SmmISFerdier 6bhs
LOMBITL LG 6V LML L &I?

(A) 1911 (WpLDEMLI LDTIBITL_LG 6V (B) 1911 QLL6VEY LOMBITL LG.60

(C) 1911 6055 5T LOMHITL_19.60 (D) 1911 Y&y WOMBTL 160

(E) eflevL Qs flualevemney

100. Which of the following is not correctly matched?

(A) Dadabhai Naoroji - East India Association

(B) Savitri Bai Phule - Servants of India Society
(C) Surendranath Banerjee - Indian Association

(D) A. O. Hume - Indian National Congress

(E) Answer not known CCSE1P/2024

L esreupeusoreummlev eT&l Filumes QILITIHH S eN606m6eu?

(A) srsmumil QpeTCrmel - FNHG QHH W FHIGLI

(B) emals& il Lmuil w,Gev - @pE wimeller 2er AUl &mhigLID
(O) &C@rHS T BIS Limeorje] = @bS W FHIGLD

(D) g.¢. anjluyld ~ @QBHW CHFW STHIG Fev

(E) ellemL Qs iflweilsvemev

101. According to Valluvar which one is compared to hand of one whose garment is loosened?

(A) Friendship (B) Baseness

(C) Renown (D) Evil friendship

(E) Answer not known CCSE1P/2024

2 (H&& @) LPIHS 66T &HBLIMTG6 6T6TLISME aUTEHIT 6THem6T L ILNBSRMTF?
(A) B (B) sswemin

(O ysip (D) & By

(E) ellemL Qs iflweilsuemev

102. Thirukkural has got ‘Quality of Religious Equity?
— The reason for this remark.
(i) Accepted by all religious people as theirs
(i) Accepted by both theists and atheists
(iii) Kural is beyond race, caste, religion, sect.
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(iv) Kural teaches all virtues to Mankind.

(A) () is correct (B) (ii) is correct
(C) (iii) and (iv) are correct (D) All the above correct
(E) Answer not known CCSE1P/2024

‘FoW BOIBlemeVL LIGTTL]' Q& MTevor LGl &) ([H 8 & meiT

— GTEOTLITY SaMMI& @8 SHIT600TLD.

(1) eT6LELTHF FLOWSSAIHLD @S 6TLD FHT6V 6T60TMI Fo.MILD FIMLUILLT QUMHMS TV

(i1) sLeyem 2 eor(h eTedTLIoUT L (HLl6oTm @)6vemev 6TedTLIGI(HLD 2 albS JH&SGW FmLUIL LI
QUMHMSITEL

(iii) @eorld, &FMH), FLOWILD, QUGLIL] eTeveuTaUMMIMGLD SLILMTHLL L&V

(iv) weafls QETHEH DG QAUTSIGUTET QUSSP Al S Nle|QSSLILIG 6USTE

(A) () L@ &l (B) (il) @b &ifl

(O (iii) wopoud (iv) &ifl (D) sjemerrg aild &ifl

(E) eflem L Gz fluaillsvemev

103. Which of the following is/are wrongly paired?

(1) Self Respect conference led by Annadurai - Thuraiyur
(2) Bharathidasan entitled Annadurai
As Arignar - Chennai
(3) Justice Party was named as
Dravida Kazhagam - Erode
(4) Black Shirt Resolution - Salem
(A) (2) and (3) (B) (3) and (4)
(C) (4) and (2) (D) (3) and (1)
(E) Answer not known CCSE1P/2024
LeoTeu [ Lemeuuilel SeummenT QUMTBSSHLD 6TSI
(1) SseooTevOTTBIENT Femevanlouiley & W FlwWmeng MHTH - SOMW,
(2) UMTESTFET 2600T600T TSI TN MBI 6T60T
UL @GLIQwsl - Q& 60T6m) 60T
(3) BH&HHLA Gymelll &L 66T QUIWT @GLLLILLCL G - ey i)
(4) s@mLUY FLemL SFLOMerLd - GFeuld
(A) (2) OO (3) (B) (3) opauid (4)
(©) (4) wooid (2) (D) (3) womid (1)

(E) ellemL Qs iflwellsvemev

104. Who was the Chairman of the first Self Respect Conference in 1929?

(A) E.V.R. Periyar (B) Sathyamoorthy
(C) W.P.A. Soundarapandian (D) Ramasamy Raja
(E) Answer not known CCSE1P/2024

1929-6V FEOLQLIMM S WIDFlWMemS OMBTL 19607 &H6M6eVelT UIMT?
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(A) F.Qeu.gm. Quiflwmg (B) 5Weniss
(C) W.P.A. Q&FeTHS) [y LITe0oT L9 Ul 60T (D) @urmwemd grr
(E) eflemL @slwelleveney

105. Match the following :
(a) Temple Entry Authorisation

and Indemnity Act 1. Annadurai
(b) Temple Authorisation Act 2. Rajaji
(c) Self Respect Marriage Act 3. Omandurar
(d) Madras State abolition of
Zamindari system 4. Kumarasamy Raja
G885 600T LU MHenm QLITIHES S 5:
(a) spevw mempe| MM @WUILT (H&F FLLLD 1. | 600T600T THI6M [T
(b) @evw mIeOWWEF FLLLD 2. @rmrgl
(¢) &w L lWmens s S ([HLOEOT BIGH6T FL_L_LD 3. RUBSTTTT
(d) QFeTement DMEMetor QLSET eI FLL LD 4. surgemd yrm
@ Ok @ @
A) 1 2 3 4
(B) 2 3 4 1
© 3 4 2 1
D 2 3 1 4
(E) Answer not known CCSE1P/2024

106. Who among the following was the India’s first woman House Surgeon in the Government
Maternity and Ophthalmic Hospital?

(A) Rukmani Lakshmipathi (B) Muthulakshmi Ammaiyar
(C) Sarojini Naidu (D) Moovalur Ramamirdham
(E) Answer not known CCSE1P/2024

LNetreupeusoraummiley 9iJ& W&SLICLM WMHMID SHevor HSEeUnemeTuilev @)\HS wimedl et
W&V QLIetor LWIME 9 miemel &R GFend BlLeoor WIT?

(A) ®swenfl Ul s ALG) (B) W& sievL_ &1l QjhemnWImy

(O) seymglent] BTw® (D) epeugry @umomdljsio

(E) ellemL Qs iflwieilsuemnev

107. Which of the following statements are true about S. Ambujammal?
(i) She joined the Non Cooperation Movement in 1920
(i) She was nominated to the Madras Legislative Council in 1926
(iii) She formed the Women’s Swadeshi League in Madras.

(A) (i) only (B) (i) and (iii) only
(C) (i) and (ii) only (D) (ii) and (iii) only
(E) Answer not known CCSE1P/2024
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108.

109.

110.

S. 9L gnmeT LMW LN6TaUHLD FoMmIg6Tlev 615 2 600TemLN?

(1) @eur 1920-60 BLHS RSHOWPWITOND @UESSHO SO @)6060TSH S5
Q& TEOOTLITH.

(i) @euly 1926-60 QOLFMEN FLLFML &6|6THR & @G BIUIL6TID QF WU LITH.

(iil) @eur QFaTeneTUN6L QLIEITSH6T 5:C8HF @ UIEEHE5NSE 2_(H6UTEH R 6OTITH.

(A) (1) L@ (B) (1) wmouib (iii) @b
(©) () wmoub (i) LG (D) (ii) wmoub (iii) L @b
(E) eflevL Qs flueievemney
Match the following :
(a) E.V.R. Periyar 1. First Indian Judge
(b) T.Muthuswami 2. Veeraraghavachari
(c) Madras Mahajana Sabha 3. Puducherry
(d) Bharathiyar 4. Kudi Arasu
L edTeu(meUstTOUMEmM QLIMTIHESSI5:
(a) FF.Qeu.gm. Quiflwmg 1. (&L @HHW BH LG
(b)) 9. wssFmd 2. efpyrseumgFamifl
(¢) QULIFmen LN&TEe60T FLIM 3. Ls5GaIl
(d) urgwrmry 4. QWITs
@ Mm @ @
A) 4 1 2 3
(B) 1 4 3 2
© 2 3 4 1
(D) 3 4 1 2
(E) Answer not known CCSE1P/2024

Why is Thirukkural called, ‘Ulaga Pothumarai’ (Universal Book of Principles?

(A) Itistranslated in many languages

(B) Many have written paraphrase

(C) It was composed 2000 years ago

(D) It has principles common for all, irrespective of country, religion and time
(E) Answer not known CCSE1P/2024

F([HEGMET '2_60&LI QLIMSIDENM' 6T60T (60L& LUILIL 8 SHITT60TD WITSHI?

(A) uev Qumhsefley QLMY QUUWTSSLILL (B 6TeTs

(B) uevy 2 6m eTW®) 2_6iTermeory

(C) @uevorLmulyLd =u,600T(H &6 &G (LD 6T GG MedT MU Sl

(D) Siemargal BTG (hEHGLD, FUSSHUBESGLD, HTLSHHGD QUTGHSSH DS
(E) aflem Qsrfluallevemev

Who is the poet for the verse “Pottruvaar Pottrattum...”?
(A) Bharathiyar (B) Kavimani
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(C) Kannadasan (D) Vairamuthu

(E) Answer not known CCSE1P/2024
"GUITMHMIGUTT GUITMML (D" 6T60TM LIML606VL] LIMTIGUIGUT UIT?
A) urpFwmy (B) sseflnevof]

(C) s>6v0T600TS TG 60T (D) emaupns s

(E) ellevL Qs fluelevemney

111. The life time of Thirukkural is reverence for life towards all the living beings on the earth.
This idea was perpetrated because
(A) Itinsists that we should think of the suffering of others as our own
(B) Itinsists that we not do to others what we think is bad
(C) Itinsists that we never do any harm to others even if we think its very small
(D) All the above
(E) Answer not known CCSE1P/2024
2 WE 2 6TeT eleueVm 2 UWlisemeTwld WLWHSHL CuTHmsev (Reverence for life)
GUETEBHEUS T 60T 2 Ul [BITLWITELD 6TeTED SH([HSH S (N&EH WSS QLIME 85TJ6orLd:
(A) Y 2 wWilFsseT LUGILD SI6TLSMS H60T SIGTLINMSS &HSF) H&HS 6Uedlu]misHH60
(B) syeoTLILD 6T6dTM SM6T MIHHeMS LDMMEITEHEHEGHTF O & UIWITH ([HES60
(©) n)lw Gemin HTC6OT 6TEOTMI 6T600T600| WIT(H& G LD TLIGLIMSID Hemin Q& WIWTH(HSH6V
(D) GLM&600TL. 60)60TS SILD
(E) ellevL Qs fluelevemey

112. “..... than neermai kunrum thatindhthezhili”
thaan nalkaathaaki vitin” — What reduces in the mention above Thirukkural, by
Thiruvalluvar?

(.... wealth will waste away except the cloud its stores repay)

(A) Land plowing (B) Donation
(C) Great sea (D) Worship
(E) Answer not known CCSE1P/2024

" HEOTHTEOLD G6OTOID S1qH G 67060

SIT60T 5V & TSR eil1q 60T

— 6T60TM G M6V TS & 6TMILD 6T6OTMI & (HEUETEHEUT Fa MG MTH?
(A) gifler 2 Lpmeyiy (B) smeorid

(C) OmhmIssL6v (D) Wsemenr

(E) ellemL Qs iflweilsvemev

113. “.....ivvirandum
Kanenba vazhum uyirku” these two are the eyes of human beings”
Which of the following pair is compared to eyes of all human beings?
(A) Virtue and Wealth
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(B) Impartiality and Self control

(C) Wealth and Love

(D) Numbers and Letters

(E) Answer not known CCSE1P/2024

& 600T G\ 60OTEOTLI UMD (LPUINTEHS”

GM&TeEID HHEGMeTley eTenel @QUeorenl & DH(IHEUGTEHAIT SHe0THEDHEG RLILMES
FoISMTH?

(A) SimEPLD QUITEBHEBLD

(B) m( &y mBleneuemnDd L &85 (LN6mLemLOU]LD

(C) QUITBEBLD @ 60TLILALD

(D) erevotenmiln 6T(WD&HSILD

(E) ellemL Qs iflweilsvemev

114. Which of the following is incorrectly paired?

(1) World Water Day - 22nd March

(2) World Environment Day - 22nd April

(3) Earth Day - 5th June

(4) World Energy Conservation Day - 14th December
(A) (2) and (3) (B) (1) and (3)

(©) (3) and (4) (D) (1) and (4)

(E) Answer not known CCSE1P/2024

L edTeu(pmeusTelMMmlev 6T&l HaUMTSH @)60600Te: & LILIL (H6TeTSI?
(1) 2.6v5 Hevoterol 7 HeoTlD - DTFE 22
(2) 26008 FMHMIFGLP6L Heorld - glirey 22
(3) L Georid - &6 5

(4) 26008 QLMHMEL LIMSBIGTLIL Heorld - QFLOLT 14
(A) (2) OO (3) (B) (1) wmayd (3)
(©) (3) hHoid (4) (D) (1) poid (4)

(E) ellemL Qs iflwieilsuemnev

115. The attitude of Rama to accept joy and sorrows equally is compared to a flower by Kamban.

Which is the flower?

(A) Jasmine (B) Lotus

(C) Lily (D) Mullai

(E) Answer not known CCSE1P/2024

@ 6T SHOTLISHMES RTMMTS gMMIS Q&TETEH @ UTnefledr 6Tl L&HGaSHmSE 6hHe
LDEV([HEG S &HLDUT LIL|enn QEFWSMTr?

(A) evellemss (B) srnemy

(C) e96vell (D) @wp6vemev
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(E) ellemL Qs iflwellsvemev

116. Which is the excellent description of “maruthanilam Nanda Villakam” based on

Chitrilakkiyam?

(A) Ula (B) Pallu

(C) Barani (D) Pillai Tamil

(E) Answer not known CCSE1P/2024

"LDBSBIeV BIHST elleng s 6Teord FMLILNGSL QUMD AMHNlevESR W el s
(A) 2_6umr (B) ueitem

(C) uryevot] (D) YeTemens sLAlLp

(E) ellevL Qs fluelevemney

117. Find out whose statement is this?
Like a bird that flies to a tree bearing fruit, I went to the broad palace of Karikal’s court.

(A) Kapilar (B) Mudathamakanniyar
(C) Nedumkilliyar (D) Alawanthar
(E) Answer not known CCSE1P/2024

"LIPTBIGH 06T B GHID Q& TeooT(H6TeT FMHISM6TE SMHMIaD LIMem6IS6T MBS 6lHeUs
Gurmev BTedT W& AUl &Ifl8mevesil6oT 3 TeuoTLNEM 60T 3i6M6U & T 6\ & 60T G medT”

(A) s 06y (B) (058 TL0 8585 600T 6007 | LLITIT

(C) o mSeTerfluimy (D) opemeubs Ty

(E) ellevL Qs flualevemney

118. Which Pathupattu literature is also called as “Nenjatrupadai”?

(A) Kurunthogai (B) Mullaipaattu

(C) Sirupanaatrupadai (D) Thirumurugaatrupadai

(E) Answer not known CCSE1P/2024
"QBEHFTMMILILIENL " 6T6oTenI D Geum QUUWIT Q& MevoTL LISGSILILITL () HIT6L 6TSI?
(A) 50IBHOHTN S (B) wpevemeuImL_(p

(C) \uumesor THMILILI6ML (D) D mIsTHMILILIL

(E) aflem Qs flueillsvemnev

119. Which one of the following statements is/are correct regarding the Arikamedu excavation?
(1) Arikamedu found at Tanjavur
(2) It was a port under the Cholas
(3) It has atrade relation with Rome
(4) The Arikamedu Fort has close trading contact with Kaveripattanam, Alagankulam and
Musiri
(A) (1), (2) are correct (3), (4) are incorrect
(B) (1), (2), (3) are correct (4) is incorrect
(O) (2), (3), (4) are correct (1) is incorrect
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(D) (1), (3), (4) are correct (2) is incorrect

(E) Answer not known CCSE1P/2024

A f&H&CG Q& Mevedl ey U165 6r 16T FonMmigerflev & LD&600TL 606U 86160 &Il WIMeoTS 6TS1?

(1) 95560 SEHFMTaLT WML L SFH60 3|60 HSI6TeTS

(2) @8 @® CFmpiaefler SemmUsHLD

(3) @5seMUWsID CITLD BT (H LT eUmetsilL 2_Me) | Q& TeuoTI) (HHSSI.

(4) 9fl&56WL®MH SMUNSLD &TCFLILL L 60T, LP&HETE6TLD MHMILD WE
SIOM NG MHIGHEHL 6T QBHHMBIG W 6U6t | &HS QSGTLIL C& M6l (BHHSHS.

A) (1), (2) srlwreral (3), (4) Hummenal

(B) (1), (2). (3) flwrerrai (4) Heummenal

(©) (2), (3), (4) #flwmeral (1) LLEIWD SeuDTETS)

(D) (1), (3), (4) flwrenrg: (2) LLEWD SeuTETS)

(E) allevL Qsiflwelevenev

120. The temple for “Kannagi” was constructed by

(A) Karikalan (B) Senguttuvan
(C) Ugraperuvazhudhi (D) Nediyon

(E) Answer not known CCSE1P/2024

"85 600T600T )’ 855 3160 GHMUll6L &L LI L&l

(A) siflemevedt (B) Q&mi@ L (heuedr
(C) 2. 67eu@meal WS (D) @Bl @uimedr

(E) ellevL Qs flualevemney

121. The Uttiramerur inscription reveals
(1) Village Administrati
(2) Written Constitution
(3) Perfect Electoral System
(4) Paranthaka Administration

(A) (1) only (B) (1), (2), (3) only
(C) (1), (2) only (D) All the above
(E) Answer not known CCSE1P/2024

2 5HTCWeRT HevGall H&6T Qsflallliuamel

(1) @gmwo plfeursid

(2) eWsLlIULL STFwe6y SjemnLliL

(3) WweLWTeEr CHIHE LPOM

(4) upMBHsseoflerT BlIFeUTssLD

(A) (1) LD (B) (1), (2), (3) LB

(O (1), (2) LLEWD (D) Gd8amlwl SeneTd I
(E) ellemL Qs iflweilsvemev

www.vetriias.com 9884421666/9884432666 41



http://www.vetriias.com/

122. Which of the following statements are true about the Chief Minister’s Breakfast Scheme?
(1) This scheme has been started by the Tamil Nadu state
(2) It will be implemented in all the Higher Secondary School students in the state of Tamil
Nadu
(3) This scheme is the first of its kind in Tamil Nadu
Choose the correct answer from the options given below:

(A) (1) and (2) only (B) (2) and (3) only

(C) (1) and (3) only (D) (1), (2) and (3)

(E) Answer not known CCSE1P/2024

WHMFFHlT Hmemev 2 600ma)] FHL LGS UMl Neteud )& &5emens
86601 U 155 61T.

(1) @bss HLLID HOPEHESHTEL QSTLHISGLILLLFI.

(2) @& 5UWLEEH ) 2 6T6T 3em6aTsH S CLO6VBlemev LisTerfl LDTeooTel T8 658 8 M5
QFWeL(MSSLILMBILD.

(3) @b HL LI BTLIQCnECW SLALDBITL 16V (NH6V (LNEMWIMEGLD.

GG QHETH&SLILLL GMufemL LweaTu®SS Filumet LFlemev CHIHE& M &&HaLD.

(A) (1) wHmid (2) LLGIWD (B) (2) wpauid (3) L@

(C) (1) HOID (3) LLBHID (D) (1), (2) OmILD (3)

(E) aflem Qs flueilsvemney

123. The total number of river basins in Tamil Nadu

A) 17 (B) 18 © 19 (D) 16
(E) Answer not known CCSE1P/2024
SLLDBITL Q60 2 6Term g, MmILILI(H 6088561160 6T6v0T6001 1856085
(A) 17 (B) 18 @19 (D) 16

(E) ellemL Qs iflwieilsvemnev

124. Match the following :

(a) Bauxite 1. Salem

(b) Gypsum 2. Servaroy hills

(¢) Iron 3. Coimbatore

(d) Limestone 4. Tiruchirappalli
Flumg QUTIHESSI5:

(a) umsemsL 1. GFeulD

(b) Hllisd 2. GFIEUITUIE D6V
(c) @miby 3. CaMWIbLSSTT
(d) &revoTeTOTITIDL|E &6V 4. DmERTTLILeTer]

@ b © @@
A) 2 4 1 3
(B) 1 2 3 4
©) 2 4 3 1
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(D) 2 1 3 4
(E) Answer not known CCSE1P/2024

125. Which of the following is correctly paired?

(1) AIIMS - All India Institute of Medical Sciences

(2) ICCW - International Council for Child Welfare

(3) NIPCCD - National Institute of Public Cooperation and Child Development

(4) ICDS - Institute of Child Development Service

(A) (1) and (2) are correct (B) (1) and (3) are correct

(C) (2) and (3) are correct (D) (3) and (4) are correct

(E) Answer not known CCSE1P/2024

GG 600T LU MHMIGT 678 FflWmg QUTBSSLILIL (B 6TergI?

(1) AIIMS - AFe @QHT W HSSI6U Amledluley Bl mieeorLd

(2) ICCW - GLLHNGH&HET HELEIGEHTET FIUCHEF I6MmLOLIL]

(3) NIPCCD - CHFW QUTE R&HSHMPLIL] WMHMID GLHSs6T GUTL ()
151 0I6) 60T LD

(4) ICDS - GBS 6T GIDUTL (H\S FL_L BlmIaIeTD

(A) (1) wooid (2) Fflwumerg (B) (1) wpmiib (3) sflwneal

(O (2) wpouid (3) FFflwmerrsl (D) (3) mauid (4) sflwmerg

(E) ellemL Qs iflweilsvemev

126. TICEL is associated with

(1) Rubber Park (2) Textile Park
(3) Food Park (4) Bio Park

(A) (1), (3) (B) (2), (3)

(©) (3), (4) (D) (4)

(E) Answer not known CCSE1P/2024
TICEL @&Germ(h Q&SMTLILIemL UG

(1) @ruuy whism (2) geayerf LrsT
(3) 2_6u0T6Y LiMIGT (4) 2l wrisT
(A) (1), (3) (B) (2), (3)

© (3), 4) (D) (4)

(E) aflevL Qg flweflsvemev

127. Arrange the following in the chronological order :
(1) Skills acquisition and knowledge awareness for livelihood promotion
(2) Make in India
(3) Tamil Nadu Corporation for Development of Women
(4) National skill Development Mission
A4) (3), (2), (4), (1) (B) (3), (1), (4), (2)
(© (3), (@), (2), (1) (D) (4), (2), (3), (1)
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(E) Answer not known CCSE1P/2024

L edTeu(peusTalMemm SmevalflenF UL 6(DMHIS NG LD.

(1) eurpeumsmy GUWUTLIQM&TET HMeiTsHem6TL ] QLMIG MM e aNblliL|eorTey
(2) @B wmaley FWMTF QFUISH

(3) sWIPBHTEH GLIETH6T GO (H 2,60)600T ULILD

(4) GsRW Hmetr GUTL(H L LD

(A) (3), (2), (), (1) (B) (3), (1), (4), (2)

(©(13), 1), (2, (D) (4), (2), (3), (1)
(E) eflevL Qs flualevemney

128. Identify the emergency care scheme 2021 introduced in Tamil Nadu
(A) Makkalai Thedi Maruthuvam Scheme 2021
(B) Nammai Kakkum 48 Scheme 2021
(C) Athikadavu Avinashi Scheme 2021
(D) Accident Relief Scheme 2021

(E) Answer not known CCSE1P/2024
SUOPHESH ) SaUSHSLILLL SUFTSHT LUTHSTLIL Q& TeTemn el 2021 |60 L LITETLD
&HITEO0T .

(A) EsHmas CHlq IDHSSIOID HLL LD 2021
(B) mlhemin &M&HGLD 48 HLL LD 2021

(©) oBsLe ANBTH S LLh 2021

(D) alug sl Blaumgeors HLLLD 2021

(E) aflem Qsrflueilevemey

129. ‘Free and compulsory education to all children of the age of 6 to 14 years in such manner as

the State may, by law, determine’ through Constitutional Amendment Act.
A) 73 (B) 86t (C) 72nd (D) 8oth
(E) Answer not known CCSE1P/2024

SLLTWID oMb @evagFsaall Samardd 6 (WS 14 allldl aled] 2 6Ters
GPHMGHEHEHG FLLULTAINTS T8 IpHIGS GCaleor(hD 6T60r  [BlF6uorWLDTTS
FLLSHGSHSSH 6 COeUIDTGSLD.

(A) 7322 (B) 86=s (C) 722 (D) 8o=st

(E) ellemL Qs iflwieilsuemnev

130. Which are the constitutional provisions for the protection of other backward classes (OBCs)?
(1) Article15(4)
(2) Article 16 (4)
(3) Article17(1)
(4) Article 19 (2)

(A) (1) and (3) are correct (B) (1) and (4) are correct
(C) (1) and (2) are correct (D) (2) and (3) are correct
(E) Answer not known CCSE1P/2024
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131.

132.

133.

Wm Nou@ssiul L eugLliterifler (OBC) unsismilmamer & wevenioliL] eF &6t
Wwimemeu?

(1) B &b erevor 15 (4)

(2) @ &myLd erevor 16 (4)

(3) @& myLd erevor 17 (1)

(4) =&&MyLd erevor 19 (2)

(A) (1) wpaud (3) Fflwmersl (B) (1) mpaid (4) sflwimersl

(C) 1) womibd (2) Flwnersl (D) (2) pmiid (3) Fflwners!

(E) ellevL Qs fluelevemney

Protection of women from Domestic Violence Act, 2005, protection to women to ‘live in
violence free home’. Though this act has civil and criminal provisions, it also enables a women

to get immediate civil remedies within days.
(A) 40 days (B) 50 days (C) 60 days (D) 65 days
(E) Answer not known CCSE1P/2024

&SBWU eueTnemmMUilel @UBHS GILIITSGMETL LIMSISGMEGI FL LD 2005, GLIGTSHEH8 G

"QUETNEMMUIVEVIT QIMDAISMS&TET” LUMSI&GTLL. @bhssF FLLEHO Fals Wmmid

Afldleorel NG EHT QEBHSTID @S GlLeTHeT 2 Lerqy Hallev Fresemerll QLM
BTL&6T LR 2 FHaHMmSl.

(A) 40 BITL_&6iT (B) 50 BITL&6T (C) 60 BITL_&6iT (D) 65 BITL_&6iT

(E) ellevL Qs flualevemnev

Pension scheme for destitute Transgenders who are above years has been
implemented in Tamil Nadu, where is Rs. 1,000 is paid as monthly pension.

(A) 39 (B) 40 (C) 50 (D) 60

(E) Answer not known CCSE1P/2024

AIWSIHEG CMHULL Ss5Tamm HIHHHEIMNESEHHSTET eUlalHuld S LD
SUP&HSHH L QFWOLGSSLILLG aITHEHHS €. 1,000 LOMHLOMES ULPHIGLILGSR mSI.
(A) 39 (B) 40 (O 50 (D) 60
(E) ellev Qs iflwefevenev

Who is certified as, “Socrates of South Asia” by UNESCO, a unit organization of United
Nations?

(A) Arignar Anna (B) Karmaverar Kamarajar
(C) Rajaji (D) E.V. Ramasamy
(E) Answer not known CCSE1P/2024

&R W BTH GHET LDESTM & F60T Bl MI6U60TLOMET UG eTeVCEH T emDLILNGTTE "Q &6 RIS
A WTe6T FM&IICa” eTeoTm FTeTmefleaLILL L Semevall WTF?

(A) @In)lEbT | 6v0T600TIT (B) &5wefyF SMLFTRF

(O @rrgrgl (D) F.Qeu. @rmamd

(E) ellemL Qs iflweilsvemev
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134. The government of Tamil Nadu launched its startup policy in

135.

136.

(A) 2016 (B) 2017 (C) 2018 (D) 2019

(E) Answer not known CCSE1P/2024

SO BMTH ATF LUSQSTH60 Q& TaTensenll e (WNenmLILIM S W 24,600T(h)
(A) 2016 (B) 2017 (C) 2018 (D) 2019

(E) ellevL Qs fluelevemney

Assertion [A] Periyar left the Congress Party and started Self Respect
Movement in 1925,
Reason [R] : Periyar visited a school of Gurukulam style run at

Sheranmadevi, he noticed the segregation of Non-Brahmins
students from the Brahmins by providing drinking water and
food in separate places. He moved a resolution for reservation
in government services for non-Brahmins. But this was not
allowed.

(A) [Al]is true, [R]is false

(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A]

(C) [A]is false, [R] is true

(D) Both [A] and [R] are true and [R] is the correct explanation of [A]

(E) Answer not known CCSE1P/2024

&5 [A] : Quiflwury smmSFe sl ol (H QeueflGwn, 1925-9i 1D
3600T(H SWIFlLIMEN S QUISHEHSMSSH Q5 ITL MBI 60T

&myeoorid [R] - GareaTnmCHauNel G &6V 2jemLILN6 HenLQLIMM 6(H

ueTefla@L Quflwmy eflguih QEFuSTH. kG N6y
LOTEoOTEU T &6 LOMMILD LT ITLO6DOT T6VEVITS LOITEO0TEU T8 615 8 & &
GQHGLD & 6voTevol [, 2_600TeU([HHHID Tl LD 560f18 5 601Gl
@BLILINSE H60oTLITH. T8 L1 Lieoofl&erflev

LN ITLD600T J6LEVMTH AT & EH G S H6ot] &1&HHEH) aULMmISG IDGFTSIT

SMESHMS (P96 QFUISITH. 3L60TTEV D 6U[HEES 3|ILNG)
WMIGSHLILLLGI.
(A) [A]l &l [R] L@ Heum

(B) [A] npoud [R] @pesor(®ib &ifl, ayeormev [R] [A] el ssmest Fifluiment eflemdaLn 96060

(O) [A]l eugy [R] L @D &f
(D) [A] npoid [R] @pesor@® b &ifl lnmmih [A] elmasmeor [R] siflwiment ellemgssn
(E) allemL @siflweilsveney

(963 +476)% + (963 — 476)%

(963 X 963 + 476 X 476) ?
(A) 1449 (B) 497 ©)2 (D) 4
(E) Answer not known CCSE1P/2024

(963 + 476)% + (963 — 476)%
(963 X 963 + 476 X 476)

?
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(A) 1449 (B) 497 () 2 (D) 4
(E) eflevL Qs fluelevemney

137. Inan A.P
too + tor + too + ..... +1t30=0
Which one of the following is false?
(A) lo5=0
(B) tio, tao, t30, t40, from an A.P
(C) If + n. =50thent, + t,, =0
(D) If d is positive, a is also positive
(E) Answer not known CCSE1P/2024
too + toy + tos + ..... + t30 = O 6T60T (I Fnl (NG QSHTLIFl6L 3B mev L 606 ([H 6 60T M) M1 6T
6T SEUMITEOTSI?
(A) fos=0
(B) tio, tao, t30, tso, 6TEOTLIEDGU Tl (h& QSTLEMT 2 (HEUTEHGLD
(C©) ni+n.=506reflev t, + t,, =0
(D) d Wemas er6vflev a eyld W& G LD
(E) eflevL Qs flueievemney

138. In a class of 35 students Kamal is placed seventh from the bottom whereas Suresh is placed
ninth from the top. Ramesh is placed exactly in between the two. What is Kamal’s position
from Ramesh?

Ao (B) 10 O 11 (D) 13

(E) Answer not known CCSE1P/2024

2 G196V 35 LomeooTel &6 2_6Termet . &LOl60l(HH & 560oTHR (K LDGLIMS! &HL06V 6T60TLIAUT
JLMag @LEFH 6 2 6TaTmF. GLD6v @) BHS! HeooTsi:H (HD CLITSH &FCJeq 6T6dTLIGUT

RTLS TS @LSH L 2 aTermy. FCLN6Y 6TedTLIOT @ elall(hHel(HoH G @emnL_ Ul 2 aTeTmi.
TGW6Y 2 L 6T @LILNHILWD GUME &0 6ThHS @)L &HFH60 2_6Temmi?

Ao (B) 10 O 1 (D) 13

(E) ellemL Qs iflwellsvemev

139. What is the probability of getting a prime number as a sum from two throws of a dice?

7 13
A) P (B) p
15 17
©) 3 (D) 3
(E) Answer not known CCSE1P/2024
@® Wemm @ LsemL 2 (L LLILMGLWD CUTS Fa(HS6VMs LIGT 6T600T HemL &8 BlHLNS 56
6T6OT6O0T?
7 13
(A) e (B) T
15 17
© 4 (D) o

(E) ellemL Qs iflweilsuemev
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140. The radius of a circle is increased so that its circumference is increased by 5%. Find the
percentage of increase in its area.

(A) 10.25% (B) 10%
(C)5.5% (D) 25%
(E) Answer not known CCSE1P/2024

R0 QUL LSS 6T 2YTOMETS!, SO FDHDaTeiley 5% B &G el D&
2 WFHRMmSI 6Tevtl6v, Ul LS 6T LIFLILIOTE| 67565 6M60T F&HeNHLID 3H &6 @& L1h?
(A) 10.25% (B) 10%

(C) 5.5% (D) 25%

(E) ellevL Qs flualevemnev

141. The diagonal of a cubic room is 11v/3 feet. Find the volume of it.

(A) 39933 cu.feet (B) 2178 cu.feet

(C) 21783 cu.feet (D) 1331 cu.feet

(E) Answer not known CCSE1P/2024

11V3 oig BemepemLw epemevelll LLh Q&TETL @@H &H60T F&IT HMMUIGT SH6oT 3i6Tey
6T60T60T?

(A) 3993V3 &.9119 (B) 2178 &.2119.

(C) 2178V3 &.9419 (D) 1331 &.2119

(E) ellevL Qs flualevemev

142. Certain type of bacteria grows 5% in first hour and decreases in number by 12% in second
hour and grows 10% in third hour. Initially 20000 bacteria were present. Find the number
of bacteria after 3 hours.

(A) 20328 (B) 25872
(C) 10164 (D) 12936
(E) Answer not known CCSE1P/2024

R0 euemsWmer Umseflum  WwaHeumaug 6@ el CBIsHev 5% eleTiFHuwL,
@ TevorLMeu g Loevot] GBS H 6L 12% eueTFFR & &6eoTlu|LD, eLpeTmTeug! ool CHT&HH 60 10%
QATIEFRWLD SOLHMG. QSTLEHEHFHED G 6T60oTe00 1&H6m8 20000 & @) BHHSHS
eT6vflev eLpedTI N6oof] GHISH MG LI LIME 15 60T 6T600T6001 18608560185 85 T600TS.

(A) 20328 (B) 25872
(C) 10164 (D) 12936
(E) ellemL Qs iflweilsvemev

143. Find the amount to be received after 2 years 6 months at the rate of 5% p.a. of Simple
Interest on a sum Rs. 6,400
(A) 800 (B) 7,200 (C) 640 (D) 7,040
(E) Answer not known CCSE1P/2024
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2LETQLTeTMING 5% FHeofl aul 19 efa5H 60 2 a0 (B &ET 6 IDMTHHHMES . 6,400 eleoTmeL
QUMLILI(GLD Q& T8 6TEOTCOT?

(A) 800 (B) 7,200 (C) 640 (D) 7,040

(E) ellevL Qs fluelevemney

144. The maximum speed of the Elephant is 20 km/hr, the Lion is 80 km/hr and the Cheetah is
100 km/hr. Find the ratio of the speed and find which ratio is the least one.

(A) The Elephant and the Lion (B) The Lion and the Cheetah
(C) The Elephant and the Cheetah (D) The Lion and the Elephant
(E) Answer not known CCSE1P/2024

wmeneruwlledr F&eTe] Gauld 20 H.S/W0ewll, FRESHar Geusld 80 &).LS./Lnevor],
FmGSemsuiler Gausksld 100 H.LS./Inevoll. G&56T Coudsmiseafler el GmgGemer &Hevor(h 6THS
NSRS FMIUIS! 6T60T & IT600T 5.

(A) wmement LDMHMILD FIMBIGLD (B) 9missb Inmmih Hmigsens

(C) wmemenr LDMHMILD PGS (D) s InMmMILD WITem 60T

(E) ellevL Qs flualevemnev

145. The traffic lights at three different road crossings change after every 48 sec, 72 sec and 108
sec respectively. If they all change simultaneously at 8 : 20 : 00 hours. Then at what time will
they again change simultaneously?

(A)8:27:12hrs (B)8:36:42hrs
(©)9:02:00hrs (D)9 :27:36 hrs
(E) Answer not known CCSE1P/2024

eLNEITM QeUIGaUM FTemev FHFILIL|GSH6 eV 2 aTem CUMEGGaTSE GMIUTL B ellend @ ST
WenmBW @alQaumm 48 &, 72 afl, 108 alBmg&eflev WDTHMD ML FPETMEOT. eLN6OTMI
FHHLILGH6T6L 2 6Tem alleTd@GHEHID @CT FLOWSHH 8 : 20 : 00 W6ll&HEG WTMMLD
ML F6eTm6T 6T6vfl6v, (DS S (MM M6l @) eM6tTHS LDMMMLD 36emL 6l 6TLIGLIMSI?

(A) 8:27: 12 1nevofl (B) 8:36: 42 nevofl
(C) 9: 02 : 00 wWevofl (D) 9: 27 : 36 nevofl
(E) ellev Qs flwelevemev

146. Find the greatest number which on dividing 1657 and 2037 leaves remainders 6 and 5

respectively
(A) 95 (B) 381 () 127 (D) 254
(E) Answer not known CCSE1P/2024

1657 LDMHMID 2037 L& I 6T600TEH 606 6l(GH&H G CLIME PemmGW 6 LnMMILD 5 LIGHenWw Frs
Falq Wl &L QUIflu eTevor 6T&I?

(A) 95 (B) 381 (C) 127 (D) 254

(E) ellemL Qs iflwellsvemev
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147. The greatest number which can divide 1356, 1868 and 2764 having the same remainder 12 in

each case is ?
(A) 64 (B) 124 (C) 156 (D) 260
(E) Answer not known CCSE1P/2024

1356, 1868 WMHMILD 2764 QLG 6TEOOTHEMET QUGESHS Fnlqll QUIflu eTeordHeT G 12
R0 5G LD 6T60f16L 3|H G 6T6U0T 6THIEUTSH @) ([H&E&HLD?

(A) 64 (B) 124 (C) 156 (D) 260

(E) elleo Qs flwellevemev

148. A water heater is sold by a trader for Rs. 10,502 including GST at 18%. Find the GST

amount.
(A) Rs. 1,802 (B) Rs. 1,602 (C) Rs. 1,620 (D) Rs. 1,820
(E) Answer not known CCSE1P/2024

6U6Dl 18 @HEUT (H SHevoTetd ) QSHBTH Gevement 18% FIo@& WMHMILD CFemeu eurflu L eoT
GF5 S eh. 10,502-5@G lMMITT. &6v0T6t0l 7 Q18 TH&H6V60f160T FI8E LDMMILD CFemel
auiflemul g & mevorss.

(A) em. 1,802 (B) em. 1,602 (C) em. 1,620 (D) em. 1,820

(E) ellemL Qs iflwellsvemev

149. The principle of transformer is

(A) Self induction (B) Mutual induction

(C) Lenz law (D) Fleming’s Right hand Rule
(E) Answer not known CCSE1P/2024

T mMHMIU 6T S5 SI6UD L 60TSI

(A) st Ll 6T T6v0T L6V (B) urflinmm o LSl edTgmevor L6V
(C) Qeveiteny G (D) Y@erdIm auevgl ends NG

(E) ellemL Qs iflweilsvemev

150. The work done in moving a positive charge on an equipotential surface is

(i) Finite (ii) Positive

(iii) Negative (iv) Zero

(A) (i) and (ii) only (B) (iv) only
(C) () and (iii) only (D) (ii) only

(E) Answer not known CCSE1P/2024

Fuo W6 WSS Urlfer s @ ChY Wt LHms BheHEFHHEF QF WLl
Geusmevudleor LOGLIL]

(1) euempwMmIGSLILL L S LILMGLD (i) CrI&M G\&MevorL_gi
(iil) e T& M) Q& MevorL_ Gl (v) & lwm@Lb
(A) (@) wmomub (ii) WL HILD (B) (iv) oL (b
(©) (1) wmob (iii) L @D (D) (i) L@\
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(E) ellev Qs flwelevemev

151. The approach of learning and reasoning from “general concepts to detailed faces” is called

(A) Inductive Learning (B) Deductive Learning
(C) Logical Learning (D) Affirmative Learning
(E) Answer not known CCSE1P/2024

QUIMSIUTETS &(H& S U6SedBHE &MILILITET &(H&HB UG GE ClEF6sILD &M med 6T
QUL WPEMUITETSI @)6)6UTMI 2{6MLP&HSELILIH & TmSI?

(A) sreoT(hID &MHMeL (B) giupilujib smmev

(C) 3765 FHUNeVTeTs: SHMHMEY (D) 2_LeTUmLmeoTd 85Mmev

(E) ellemL Qs iflweilsvemev

152. Conceptual learning lays emphasis on :
(i) making interdisciplinary connections
(ii) recalling concepts
(iii) applying knowledge in new situations
(iv) integrated application of key principles

(A) (i) and (ii) only (B) (ii) and (iii) only

(C) (@), (ii) and (iii) only (D) (i), (iii) and (iv) only
(E) Answer not known CCSE1P/2024

HBSH W6 &DHME D5 5H mS.

(1) UGN FITIMEEHE TR L CUI &) 6vr600T 1L 6 60T

(i) &IPS SI5GHEMET [BlEM6IT6) FnlJ G606V

(iil) 9Mlefemert LgIF GL6e0l60 LIWIGTLI(H S SI5%6m6V

(1iv) WKW CaILLIMH &6rfledT 6 (HmISH 606007 [H& LIUIGOTLITL_Lq.60)60T

(A) (i) bmoid (i) v @b (B) (ii) wmmitb (iii) ot GLd

(©) (@), (i1) wmmud (iii) WL HID (D) (1), (iii) o (iv) LW
(E) eflemL Qslwelevensy

153. Skepticism means
(A) Unbiased attitude of an individual
(B) Itis an appeal to simplicity
(C) The preference for scientific explanation
(D) The belief that nothing is final and permanent alternatives are available and
there is always a scope for innovation and finding something new
(E) Answer not known CCSE1P/2024
3|6 EBITEOTEUTSH LD 6T6OTLIS)
(A) @6 saflburlar UTTULFHD TG LOD
(B) @& e ererfleminimest Geuevor(h G et
(C©) alaflwev elemd: s HH M meT (L6iTenlflemin
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(D) ergia)ld @ oIS WITETS 606V 6T60TM HLOLNGeNS WMHMILD BIFHSTOMeT MMM 6Ll &6
Q& MTEToT L L|SI6MLNESHTET L|FUIeoredMenm &60oT(h LG LIS M EMeT aUMUILIL] 2_6TeTemnel.
(E) ellev L Qs flwelevemev

154. Which is also called as Triptane?
(A) 2, 4,6 — Trimethyl Benzene
(B) 2,2, 4 — Trimethyl Pentane
(C) 2, 2, 3 — Trimethyl Butane
(D) 1, 2, 3 — Trimethyl Butane
(E) Answer not known CCSE1P/2024
6131 19 fILIGL 60T 6T6oTe D eMP&ESLILIGGH MSI?
(A) 2,4,6 - 19MIQLEH 6V GLIGTTF 6T
(B) 2,2, 4 — 196mIQLEH 6V GQLIGTGL 60T
(©) 2,2,3 - 19OTQSH6 LU GL6dT
(D) 1,2,3 - 196eFQWLSEH 6L LNuL_GL6dT
(E) el Qs flwellevemev

155. Among the following, which will have highest dissociation constant (ka) value?

(A) HCIO (B) HBrO

(C) HIO (D) HCIO,

(E) Answer not known CCSE1P/2024

L& smenln Wlevmkisefley 95 & Liflems omnledl (ka) Qasmevor levld eT&?
(A) HCIO (B) HBrO

(C)HIO (D) HCIO,

(E) ellev Qs flwalevemev

156. Arrange the following Sustainable Development Goals by UNO :

(1) Zero Hunger (2) Good Health

(3) No Poverty (4) Quality Education
(A) (1), (2), (3), (4) (B) (3), (2), (1), (4)
(©) (3), (1), (2), (4) (D) (1), (3), (4), (2)
(E) Answer not known CCSE1P/2024
o.pT Feol aflnsliu@SIU eeTHIGETMT alemiFHE GMl&ECHTeTHmeT Flums
aflenFlILBO &SI :

(1) ueWleTemLn (2) pevauTLDEY

(3) eumiemnuledTemLn (4) srLmeT seval
(A) (1), (2), (3), (4) (B) (3), (2), (1), (4)
(©) (3), (1), (2), (4) (D) (1), (3), (4), (2)
(E) ellev L Qs flwelevemev
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157. Match the following type:

(a) SLP 1. Deep Learning
(b) GAI 2. National Centre on Al
(c) DL 3. Statistical Language Processing
(d) NCAI 4. Generative Artificial Intelligence
LY eTeu(meUetTOUMEMM QUIMTIHES S :
(a) eterv 616y L 1. LPHS &HMHMeEL
b) L g 2. Al @6V G5 W emnwILD
(c) 19 eT6L 3. Yeiterfl efleuy QM Q&FW6eVTE &0
(d) o161 A g © 4. 2_(hEUMEGLD QFUIMEN S HI6ToT600T M6
@ M @ @@
A) 1 4 3 2
(B) 3 4 2 1
© 2 4 1 3
D) 3 4 1 2
(E) Answer not known CCSE1P/2024
158. Match the following :
(a) Dr. Ambedkar Award 1. S. Jeyaseela Stephen
(b) Thanthai Periyar Award 2. U. Balaraman
(c) Kamarajar Award 3. Suba. Veera Pandiyan
(d) Tamil Thendral Thiru.V.K. Award 4. P. Sanmugam
QUMHS S 5.
(a) LM&LY. 9bCUGS&HTT el 1. 6T61V. QRQWIF6VIT GNVIC LI6OT
(b) shems Quflwmy eNma! 2.2 . LIVIITLDEOT
(c) syl aflms! 3. &L, efy LIMmeooT1q Ul edT

(d) 51LLE QseTM6L & ([H.6eN.5. l(H S 4. QL. FeuoT(LP LD
@ b @ @@

(A) 3 2 1 4
(B) 4 1 3 2
© 4 3 2 1
(D) 3 2 4 1
(E) Answer not known CCSE1P/2024

159. Who is the author of the book “The Romance of Salt” which is mentioned about Gandhiji’s

Thandi March?

(A) Anil Kakodkar (B) Anil Tharkar
(C) N.K. Singh (D) M.S. Swaminathan
(E) Answer not known CCSE1P/2024

STHEHSlufler sevorly HemLLiweorgemsll Lmpilw “The Romance of Salt” etestm mHremev
TS WU WImy?
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(A) sjevfléL HCHMTL&T (B) 3jevfléL TSI
(C) 61601.G 5. A (D) 6TLD.6T6M. &v6u L [B T8 60T
(E) ellevL Qs fluelevemney

160. Storm in UAE:

Assertion [A] United Arab Emirates faced a severe thunder storm, brought one of
the heaviest rainfall on record.
Reason [R] : Causes for the heavy rainfall is due to trade winds and waves.

(A) [A] is true, but [R] is false

(B) Both [A] and [R] are true, but [R] is the correct explanation of [A]

(C) [A]is false, but [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation of [A]

(E) Answer not known CCSE1P/2024

WEHGHW AT 6TOIGTLenSl6v Ljuley :

&M [A] : DEHER W T TCTL 6N &(HemLDUITET G)L9.U]L 63T Fnlq Ul LDEMLDEI
6THT Q& MTeoT LS.

smgewnrd [R] : LeVSS LD6DLNGHSHITEOT &ITJ600T R 6T 6UFH&HE &TMmMI LOMMILD
6DV G 6T

(A) [A]l flwrerg), aermev [R] seum

(B) [A] mmmiid [R] @pevor(ld &ifl, inmmitd [R] eteoriig [A] el Frflumet eflemg s

(O) [A] Beum, spermev [R] &ifl

(D) [A] nmmid [R] @pevor(ib &ifl Qyeormev [R] eretriig [A] elm@& aiflwimeot eNl6mg&nevey

(E) ellevL Qs fluaievemnev

161. The bird that was affected by an oil spill in Kosasthalaiyar in December 2023.

(A) Spot-billed Pelican (B) Flamingo
(C) Macaw (D) Pigeon
(E) Answer not known CCSE1P/2024

2023, WFLUFlL Q&EMFGmeWTMMIL gMLLL 6TemQemril &SHeaumey  L&e W0
LTS &SELILLL Limemel?

(A) envumL-L960 () Q1LI60) & 60T (B) sNemdimiGssm

(C) w&sm (D) ymm

(E) ellemL Qs iflweilsvemev

162. Choose the right match among the following :

(1) Mars - Mangalyan

(2) Pinatubo - Volcano in Japan

(3) Crust - Inner layer

(4) Ganymede - Saturn’s moon

(A) (1) alone is correct (B) (1) and (2) are correct
(C) (1), (2) and (3) are correct (D) All are correct
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(E) Answer not known CCSE1P/2024
G LD G 600T LU M MIET FIfIWLIMET QUTHSHHNS G556 QF U :

(1) Q&eueumUl - LO M1 85 60 WL T60T

(2) Yerm®GGUT - s 1LImentledr eTflnemey

(3) &geu® - 2 6T D &S

(4) smeflA® - Feoflulledr Blevey

(A) (1) LG\ FlwmeTs (B) (1) mmmiid (2) siflwimereneu
(©) (1), (2) whobd (3) FFlwmeTeney (D) syemerrdsih &l

(E) ellemL Qs flwellevemey

163. Choose the right matches among type :

(1) Hydrogen - Alternative energy

(2) Biogas - From Non-degradable waste

(3) Solar energy - Water heating

(4) Geothermal energy - Wind speed and direction

(A) (1) and (3) are correct (B) (1) and (2) are correct

(C) (2) and (3) are correct (D) (3) and (4) are correct

(E) Answer not known CCSE1P/2024

Frflumer auen&HUleumeT QUMTHSHHMSG CHF6e Q&I :

(1) emamL yegeor - IO DOV

(2) 2 ullgeurry - &&EMS SPlasafledmba QUMUILIGSHMS
(3) &fw emmey - B GLTSGS 6V

(4) yeal Qeuliu SLMHMEY - STHMleT Gaussd LDMMILD Hen &

(A) (1) woob (3) sflwneral (B) (1) womib (2) sflwnerg!
(O (2) ooid (3) lwneal (D) (3) whmitb (4) sflwneral

(E) ellemL Qs iflweilsvemev

164. The abundant growth of algae in water reservoirs is due to

(A) Eutrophication (B) Thermal pollution

(C) Bio magnification (D) Radioactive pollution

(E) Answer not known CCSE1P/2024

BrBlemevserfley SLflgLInmeT (6V8&) LIMTH eleTF&FR & mevor UL (h 6U S M85 TeOT &ITT600rLD
(A) WL BrmLIGs g 60T (B) Qeuliu OMar

(C) 297 2 BLeLIHmESLD (D) 89 flw&s Inme

(E) ellev Qs flwelevemen

165. In India, Dafla tribe is found in
(A) Tripura (B) Assam
(C) Arunachal Pradesh (D) Sikkim
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(E) Answer not known CCSE1P/2024
L&Lleum Lk uilentd @bo uwmellev 6Tmi@ & meoor L (H G edTmeory?
(A) @rlugn (B) syevenmid

(C) symevormEevLll NIFGHFLD (D) 551D

(E) eflevL Qs flualevemey

166. India’s population census system was started during the year

(A) 1881 (B) 1861 (C) 1851 (D) 1871
(E) Answer not known CCSE1P/2024

@BHWTN6 ID&H&HETRSTNHS HeoTHG&BHILIL| Q&ML MISGLILILL 9b,600T(0H)
(A) 1881 (B) 1861 (C) 1851 (D) 1871

(E) ellevL Qs flualevemney

167. The term “Operation Flood” is related to which of the following products?

(A) Milk Production (B) Fish Production

(C) Apiculture (D) Alga culture

(E) Answer not known CCSE1P/2024

"QEUETET BL6ULLE60&" 6T60TM GI&FTEVEVITETS 6TSHENIL 60T QISGTLJL{6MLWSI?
(A) umev 2. MHLSH) (B) 60T 2. MLIGS)

(C) Cxef aueTiLiL (D) op6v&IT eueTFLIL

(E) ellemL Qs iflweilsvemev

168. Krishna Devaraya belongs to dynasty of the Vijayanagar Empire.
(A) Aravidu (B) Saluva (C) Sangama (D) Tuluva
(E) Answer not known CCSE1P/2024
& (erqeoor CHaUT W el &L CUIFTE et @MY aIDEFSHMS CEFFTHEHIT
(A) sipai®) (B) Fsavieum (C) smsInm (D) s1@m6um

(E) ellemL Qs iflweilsvemev

169. The great religious thinker and philosopher Shankaracharya was born in

(A) Kaladi, Kerala (B) Kanchipuram, Tamilnadu

(C) Kasi, Uttar Pradesh (D) Kolkatta, West Bengal

(E) Answer not known CCSE1P/2024

FMHS LDSF HSHEM60TWITETIHLD, &&SIalEhTeollunmeT FhiGITEFTIIWT Nmbs @L LD
(A) smevlq, Ga 6T (B) smep&S Yy, sALBITH

(©) &md, 2. 55 7197CsH &0 (D) &605565T, GLOME QUMIGTETLD

(E) ellemL Qs iflwellsvemev

170. Choose the right matches among the following :
(1) Vedanta - Fountain Head of Indian Philosophy
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(2) Brahmanas - Musical Hymns

(3) Rigveda - Gayatri mantra

(4) Puranas - Upanishad

(A) (1) and (4) are correct (B) (3) and (4) are correct
(C) (2) and (1) are correct (D) (1) and (3) are correct
(E) Answer not known CCSE1P/2024

Ep UL L@ ueumnilev FiflwmeT QUTHSSHHMNEHS CEHI6] Q&%

(1) GausmbHsid - QHH W 55 816uSHT 60T 419 LILIOL

(2) Ygmwevormeny - @EM&FLILIML6Y

(3) 7l& Gaugld - sTwgH nhHS T

(4) ygreTRIGET  — 2 Lplegs

(A) (1) poid (4) &1 (B) (3) wpmid (4) &1

(©) (2) woouid (1) & (D) (1) wmaubd (3) &l

(E) ellevL Qs flualevemnev

171. Arrange the following as per the year of establishment in the chronological order:

(1) Sangeet Natak Akademi (2) Kalakshetra Foundation

(3) Lalit Kala Academy (4) National School of Drama

A) (1), (2),(3), (4) (B) (2),(3), (4), (V)

(©) 1), (3), (2), (1) (D) (2), (4), (3), (1)

(E) Answer not known CCSE1P/2024

L edreupeustraumenm &mevelfleng iUl WenmLiLh&SIs

(1) smIES BTLS S &TLL (2) 36VTCH ST TT G (PLOLD

(3) v6ei5 v gy TLLA (4) CrEQETEL NFR6V QL& LQITITLOT
A) (1), (2), (3), (4) (B) (2), (3), (4), (1)

(©)(4), (3),(2), (1) (D) (2), (4), (3), (1)

(E) ellemL Qs iflwellsvemev

172. Match the following :

(a) Abolition of Jiziya 1. A.D. 1563
(b) Abolition of Pilgrimage tax 2. A.D. 1564
(c) Abolition of enslaving war prisoners 3. A.D. 1562
(d) Fall of Bairam Khan 4.A.D. 1560
QUMTBSSIS :

(a) Llenlwimemer epfl& 560 1. ®.19. 1563

(b) yeoflaLl Lweoor auflemw epLfl& 60 2. &).19. 1564
(c) GUMTE MBHT6T 3|1 MLNGETTS
MEUSH (S HM6V L5560 3. ®.1. 1562
(d) ey smesT efLpFF 4. 8.19. 1560
@ Om @ @
(A) 2 1 3 4
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(B) 4 1 3 2

© 1 2 3

(D) 3 4 2 1

(E) Answer not known CCSE1P/2024

173. Match the following :

(a) Gwalior Fort 1. Shah Jahan

(b) Shahjahanabad 2. Mansingh Tomar
(c) The Jama Masjid 3. Shershah Suri

(d) The Purana Quila 4. Babur

LY edTeumeustTeumemm QUTHSH SIS :

(a) ®eumedlwy GamLlenl 1. Q9.5 60T

(b) egmysTETTUNS 2. IDMETHIMI GHTIDF
() gbwr nes 3. Qegreqm @il

(d) ygmeoorm @&ulevmr 4. Umuy

@ ® @ @

A) 2 1 4 3
(B) 1 2 3 4
© 1 3 4 2
(D) 1 2 4 3
(E) Answer not known CCSE1P/2024
174. type of Indus pottery is the earliest example of its kind in the ancient world.
(A) Incised (B) Glazed
(C) Knobbed (D) Perforated
(E) Answer not known CCSE1P/2024

6ttt euemsWilevmesr FHSIFIDGQ6I6T DL LIMeooTL_ LD  LieooTemL Ul 26V 5 60T
WDGeTenNG FmeTCMT(h 625 SI6T6ETS).
(A) Qeul L (B) weruerrLiLImeor
(G N1\ [ [ NTH (D) siemeruil L
(E) ellemL Qs iflwellsvemev

175. Which of the following statements about the Harappan Civilisation is not correct?
(A) Pipal and Acacia trees were regarded as celestial plants
(B) Terracotta female figures are considered to be representation of mother goddess
(C) The people of Harappan Civilisation never disposed of their dead by the
method of cremation
(D) Indus people worshipped the prototype of siva
(E) Answer not known CCSE1P/2024
L edTeu(meusoTelMmIET eI LILIT BT&FEHID GMlEHS SeUmTeT Sammi 6151?
(A) 9rF LW 915CHaflWIT FWLD L6fls IDINMEE &IHSLILIL L 6.
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(B) merflineoor  QLIetor 2 (HeUuMmIGET QUetor  QsUleumiseflar LTS mIS&salnms
&SHSLILIL_L60T.

©) amguur  pBI&EFHEEHO0 @QMBHS 2 LOVGHMETS SH&HEOTD  QEFWWd  emm
eruimmellshemev

(D) Feuenfletr 945 aulgeGHemns euLSlLIL L 60T

(E) aflemL Qsrflueilevemev

176. The power of Judicial Review relates to

(A) Advising the President on Constitutional matters

(B) Declaring laws of Parliament unconstitutional that are against Constitution

(C) Reviewing the organization of Judiciary

(D) Preparing law to preserve the rule of law

(E) Answer not known CCSE1P/2024

B&IYeTTmUle SIH&TTLD @FHIL 60T QSTLTLMLUSTSLD

(A) sipfwevennliL] FMibs lausTrmsefley GUWIHS SHMeVal[HHEEG M6y
6ULPMRIGS H6V

(B) sip@wevennlIihH@& TS Jmer  BILTEBLETN Fal LH&GT rRwevenliinG
(LD TETOT ITEOTEmI6U 6T60T 2 M 6)) &8 60

(©) B8 sIemmuileT jemwliNeneT ETmile] Q&FIg6

(D) LSS 6T 9Ll Fleml LIMSIGHTHGSGD FLLBIGH6T Q& mevor(h) 6l ([HEH 60

(E) allemL Qsflwailsvemev

177. Find the incorrect pairs in the following :

(1) ICT - Information and Communication Technology
(2) NJDG - National Judicial Data Governance

(3) CIS - Case Information Software

(4) ADR - Alternative Dispute Redressal

(A) (1) and (3) only (B) (2) and (3) only

(O) (2) and (4) only (D) (4) and (1) only

(E) Answer not known CCSE1P/2024

LD & 600T L6 M MIET, HEUMITET @)60)600Tem I &600T L&

(1) ICT - FH&HaUI6V QFHTLITL Q& HTLEMEIL LD

(2) NJDG - CxHW HESsImM HT6 BlFeuTsLd

(3) CIS - QPG G SHFH6U6 GILD6OTELITIHET

(4) ADR - S&IMNISEHSSTET LDTHMIE Gy

(A) (1) Hoid (3) LW (B) (2) poid (3) LW
(C) (2) wHaid (4) LLEILD (D) (4) pmitd (1) LLEW

(E) ellemL Qs iflweilsuemev
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178. The list system of the distribution of Legislative powers originated in India by
(A) Minto-Morley Act, 1909
(B) Montagu-Chelmsford Act, 1919
(C) Government of India Act, 1935
(D) The India’s Independent Act, 1947
(E) Answer not known CCSE1P/2024
@QBESH W FLULIOwWmmID SH&TIHIGem6T LS JHS6rTLILSMETer LIL1QUI60 emLDLIL] (LDemm
Qb5 FL LSS0 BHS 2 (HeUTeTS)
(A) Wer@Lm-mred EFH»H&HSHEF FL L LD, 1909
(B) wmeoorCL@&-Q&Fhen@UMTTL &FL L LD, 1919
(C) @bhHW FFMHIGF FL_LLID, 1935
(D) @pHw &aHHrE FLLID, 1947
(E) allemL Qsflwailsvemev

179. Find out the incorrect articles on the disqualification of State Legislative members.

(1) Article 189 (i1) Article 190

(iii) Article 191 (iv) Article 192

(A) (@) and (ii) (B) (ii) and (iii)
(C) (i) only (D) (iii) only

(E) Answer not known CCSE1P/2024
mBlev &L LneTm 2 mililerI&erfler &S @ LOLIL QS TLITLITET SaUmmeT FL L 2 MiLIeoL
&600T L1 &.

(i) enmi1 189 (i1) enm1 190

(iii) sami 101 (iv) sami 192

(A) (1) hayid (i) (B) (i1) wooid (iii)
(©) (1) L@ (D) (iii) @D

(E) ellemL Qs iflwieilsvemnev

180. Choose the correct matches among the following on State Legislature.
(1) Abolition or creation of legislative

Councils in States - Article 169
(2) Duration of State Legislatures - Article 172
(3) Special Address by the Governor - Article 174
(4) Assent to bills - Article 176
(A) (1) and (2) only (B) (1) and (3) only
(C) (2) and (3) only (D) (1), (2) and (3) only
(E) Answer not known CCSE1P/2024

LDMBI6V FLLDETMLD QG TLFLITET SLh& 8 600TL @) emetorgserlev Fiflmeraimenm CHTHOSMH.
(1) wrplevmiserfley Gevemeaugemnar 58 @560
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36V6LSI 2 (IHEUMTE GG 6V - 2_miLiL 169

(2) wmmElev L L InaTmmIG6T 6T Ligei &8 meuld - 2 mIliL 172
(3) EpmRler UL T - 2 miliL 174
(4) DCFMFHMEHEHEHEG RLIL|SH6V - 2 ML 176
(A) (1) woHoud (2) LLEWD (B) (1) maytd (3) LLGHILD
(©) (2) mmiid (3) LLGHID (D) (1), (2) npmiid (3) LLBHID

(E) ellevL Qs fluelevemney

181. Assertion [A] Attorney — General of India has the privilege of addressing both the

houses of Parliament.

Reason [R] : Attorney — General enjoys the same previleges and immunities as
the members of Parliament.

(A) [Al]is true, [R]is false

(B) Both [A] and [R] are true; but [R] is the correct explanation of [A]

(C) [A]is false, but [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation of [A]

(E) Answer not known CCSE1P/2024

&M5S [A] : BITLTEBLOETME S 60T @) ([H 606U 6faid 2 6mFwmmmiD
FoLiLflemin @HH U &eMeVenLD 6L S E 60T ER[HEHE 2 60oT(h).

&mgeoord [R] BTLTEHLTH 2 MiLiLNeriseneT CUMeTCMm @HSH W &emevenin
QILNGGMTEHIHLID FIMLIL] Favien HEHem6TW D afl6v8 & 6r]LI6oLIU]LD
Q& TevoT (N ETETITI.

(A) sapmi [A] &1, @uermev &Tevorid [R] seaumi

(B) sapmi [A] wpmib &ryevrd [R] @ueorGib &ifl; wmaild smyesorid [R] gammi [A] efleor
Frflwmer allemg LD

(O) sapmi [A] Beum, suermev sMyeorid [R] &ifl

(D) gammi [A] inmmild &myevorid [R] @pevor(Qid &ifl; apeormev smyeoorid [R] swmoy [A] elesr
Frflwimer allemg L0606V

(E) ellemL Qs iflwellsvemev

182. Equal Justice and free legal aid to the poor are guaranteed under

(A) Article 39 (B) Article 39 A

(C) Article 43 A (D) Article 21

(E) Answer not known CCSE1P/2024

gO&HEEHHEG &Fln HEH LoHmid @eelF FLL 2 5all @F6T epelld 2 SHransll
LGSSLILL (B 6T

(A) sirflwevenioliL] &) 39 (B) 9y weveminliL] el 39 A

(C) iy weveminliL] el 43 A (D) oy weveminliL] el 21

(E) ellemL Qs iflwellsvemev
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183. Consider the following statements on Right Against Exploitation and find out the correct
statement.
(i) Protection of Language, script and culture of minorities
(i) Prohibition of Traffic in human being
(iii) Protection of life
(iv) Prohibition of employment of children in factories

(A) (i) and (ii) only correct (B) (i) and (iii) only correct
(C) (ii) and (iv) only correct (D) (iv) only correct
(E) Answer not known CCSE1P/2024

FLDESTEORIN G T600TL W& &, 6THTmeor 2_[flentn LMMIL 6UmsSH WBIGemeT Seueofl, &ifluimeor

QUG LITHI S 60)6IT 856007 LM 5.

(1) ewss algeld MM FmiLimeTenulerfler HTEFSFTILD WMHMILD QTLLESee6rT
LTSS TS G 6V

(i) 6T HLHFHmL HHGSH6

(iii) 2_.uly eumpeusMSEsmeT LIMSISTLIL]

(iv) QsTHhHeTamevserTley GBS QS TLEIEVTETTEH 6T & & 56V

(A) (1) mouid (1) LW &Fifl (B) (1) wmoutd (iil) Qb &ifl

(C) (1) moud (iv) LD Fifl (D) (iv) nL_(p\b &1l

(E) ellevL Qs flualevemnev

184. Consider the following statements.
(i) Preamble is a part of the Constitution
(ii) Preamble can be amended
(iii) The provisions of the preamble are not enforceable in courts of law
(iv) The preamble is a source of power
Choose the correct answer :

(A) (1), (i1) and (iii) are correct (B) (1), (i1) and (iv) are correct
(C) (ii), (ii1) and (iv) are correct (D) (i) and (ii) are correct
(E) Answer not known CCSE1P/2024

B LDGH600TL 6UITEH S WLITEIHEM6T 8566011855610 :

) wsamr QBEHW TFamLILI6T @1 UGS 2bE&Lb

(i) wseamT HHSSLILLETID

>iil) wseamruilev FmMUILLIQBEHEGL gHUTHI&ET HS DETMBIGET e QFWOLBG SHS
Wwurg!

(iv) W& TG HFHGEMTHS 6T CLHEVIOLD SpSTTINLD G

Fflumer ellemLenws CHIHOSH &56| LD

(A) (i), (i) womid (iii) &l (B) (1), (il) ooid (iv) &ifl

(©) (i), (iil) oo (iv) &ifl (D) () oo (ii) &1l

(E) ellemL Qs iflwellsvemev
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185. The following scheme is implemented with an objective of reducing maternal and neo-natal
mortality by promoting institutional delivery amongst the poor pregnant women?
(A) Pradhan Mantri Swasthya Suraksha Yojana
(B) National Urban Health Mission
(C) Janani Suraksha Yojana
(D) Swachh Bharat Mission
(E) Answer not known CCSE1P/2024
Wetteumd S Lmseflev genp &Tllilenflll QuetordeflemlGuw  Bloieusor  f& wimeor
Hrgeaugens 2a&GalHa <SG epeod sMl wHpD UpbHs GLbams @oUeu
GMMEGLD CHMTHHSSIL 6T QFWeLOHHMSI?
(A) Ypsmer WHH ] eeueVG W &8 M CUITE60TT
(B) CxAW Bma&ITUM &&ETHTY HIL_LLD
(C) mevrent] G 7T GUUITER60TIT
(D) sremsmy @BHWIT @ UuldHssL0
(E) aflem Qsrflueilevemey

186. Match the following :

(a) PM eVidya 1. Testing core concepts,
application based questions,
higher order thinking

(b) PM Poshan Shakti Nirman 2. Volunteers to contribute assets /

materials / equipments to

(c) Vidyanjali 2.0 3. Digital education to coherent
Multi-mode access to education

(d) SAFAL 4. Provision of supplementary
Nutrition at School

LN edTeu(peusTalMemn MLl QLIMTIHSSI5:

(a) PMeaflswim 1. GFMHemeT QLML &([HSSIHSHET,
LweTum® &mihg CoHemell&6lT, 2 Wiy
alfleng §\b g emeor

(b) PM GUMaQ M F&S) BIFDET 2. Se0TeT MUV 6T, LisTer 15 6h 8 &
QFMHSI&HEHET/QUITIHL_&H6T/

2 _LIGJ600T RIS 6T GLITeTmaIMenm Q& MTHILILIG

(¢) alswmehsed 2.0 3. 19851 L6v Sevafludledr eumuievmss
LIETT(LPE (LD S606) 21 6mIE 560
(d) &suev 4. UaTerfluileL Fa(hH6L 26T L G55 605 6ULDMIEG 560

@ M © (@@
(A) 1 2 3 4
(B) 4 2 1
© 3 4 2 1

w
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(D) 2 3 1 4
(E) Answer not known CCSE1P/2024

187. Which among the following was announced in Union Budget 2022-23, with regard to crop
assessment, digitization of land records and spraying of insecticides and nutrients?

(A) PM eVdiya (B) PM Sampanda
(C) Rashtriya Krishi Vikas Yojana (D) Kisan Drones
(E) Answer not known CCSE1P/2024

LNesreuneusoreummier LU WG LILTEH), Bl6v 2161600 MHIS 66T 198311 L6V LDWILDITE G SH6, LL,FF &
Q&ML &H6T QF6TflEEH60 IDMHMID 26Tl | FFE5SIEHE56T Y HWemel GNMHSH SH U LILQKL
2022-23-6V HNeN&SLILIL L 6m6U 61817

(A) Y.erd. @ellgwim (B) Y.eTb. LOUST

(©) pmaq Ll B ifleq ellamev Gwimgerm (D) @amer LG meTd:6iT

(E) ellevL Qs flualevemev

188. “Kissan Rath” a friendly Mobile App is launched for
(i) Locate the Mandi
(i) Transporting agro-products
(iii) e-trading

(A) (i) only (B) (ii) and (iii) only
(C) () and (iii) only (D) (ii) only
(E) Answer not known CCSE1P/2024

"GN I8" 6T60TM Q& WS @FHMEMELI LiteT LRSS

(1) sFhngmWE SevorL mlwl

(i) Geuermeoor QLIMTIHL &H6IT CLIMEGGTSH MG

(iii) @emevorwl euLdl euevoflS LD

(A) () L@ (B) (i) inmmitd (iii) G
(©) (1) moitd (iii) LD (D) (ii) @b

(E) ellemL Qs iflwieilsvemnev

189. Consider the following statement about GST:
(1) Both Central and State taxes will be collected at the point of sale
(2) The Central and State GST will be charged on the manufacturing cost
Which of the above statgements are correct?

(A) Only (1) (B) Only (2)
(C) Both (1) and (2) (D) None
(E) Answer not known CCSE1P/2024

GST umnlw HLp&5600TL. HHEU6VEET6L &H([HEHH 6V GG T6TS:

(1) aflmuenerr WeneTuleL INSH U DMTHIEV S TEGH6T QU@ Q&G
(2) wsH W, wrElev GST 2 MHUSH Wenmuilev NG &&LILIR IS
GLM&HE0TL. Fo M MG G616V 618 FiflwmeoTss?
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(A) (1) LB (B) (2) mL_®b
(C) (1)-1b (2)-1b (@ Tevor(H)LD) (D) 6T8164GLD G)6VemI6y
(E) ellevL Qs fluelevemney

190. The Effect is deficit financing is

(A) increase in money supply (B) decrease in prices

(C) increase in unemployment (D) increase in interest rates
(E) Answer not known CCSE1P/2024
LMMTEHGeNM BIH WITEHEHS S 60T 616m6Te 6T60T LIS

(A) ueoor oefliiL S &L (B) eflemeu &6 Gemnms 6L
(C) CauemevulletTemin H &L (D) aul 19 ef5LD 2 WI[Hg6v

(E) ellemL Qs iflweilsvemev

191. Some of the indices lanched by NITI Aayog are
(i) Composite Water Management Index
(i) School Education Quality Index
(iii) Urban Development Index

(A) (i) only (B) (ii) and (iii) only
(C) (@) and (ii) only (D) (1) and (iii) only
(E) Answer not known CCSE1P/2024

NITI @,Cwms AMWsLILGISSH W Fev GMIUTH &6T 3jemal

(1) &=l BF Guevmeoremin &mIuT®

(i) weiterfl Bevall BT GMIUTH

(iil) p&IUM eueTyEF GMluih

(A) (i) LL@LD (B) (ii) mouib (iil) @b
(©) (1) wmob (i) L @D (D) (i) wmoub (iii) L @b
(E) ellemL Qs iflweilsvemev

192. In the study conducted by Dandekar and Rath regarding poverty line, which of the following
statement is true?
(A) 40 percent rural and 50 percent urban
(B) 30 percent rural and 40 percent urban
(C) 40 percent rural and 30 percent urban
(D) 50 percent rural and 40 percent urban

(E) Answer not known CCSE1P/2024
STOTCL&GT MM grgs SOILNGWL aumennsg CoHMkh Si6Te|, BLD&HETLaMMIET 678l
Frlwmerg)?

(A) 40 Fz6fs0 HYMLOLWD WHMID 50 F&H6TSHD HSHTLD
(B) 30 5z6afsd HKymnld MM 40 FHeiHD HSHTLD
(C) 40 Fz6fsb KM WHMIWD 30 FHeTHID HSHTLD
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(D) 50 Fxaisld KMo InMHMILD 40 56D HE&TLD
(E) aflem Qsrfluallevemey

193. was the first Muslim leader to demand for Pakistan in 1933.
(A) Maulana Azad (B) Muhammed Ali Jinnah
(C) Sayyid Ahamed (D) Rehmat Ali
(E) Answer not known CCSE1P/2024
1933 QLD SL600TIQ 6V LITHeVGTenssmer CHMTfleaamses all(hsHs (NH6L (LN6eeSld FHemevalf
QLU
(A) QDETELITETIT Q&M (B) w&s1081 9160 letreorm
(C) emsw g 95108 (D) @yamwng <16l

(E) ellemL Qs flwellevemey

194. Read the following passage and answer which event or movement is mentioned here:
“It left a profound impact on the political history of India. From a political angle the measure
accentuated Hindu-Muslim difference in the region. By giving Muslims a separate territorial
identity and a communal electorate the British government in a subtle manner tried to
neutralise the possibility of major Muslim participation in the “Indian National Congress”.

(A) Partition of Bengal (B) Non Co-operation Movement
(C) Partition of India (D) Poona Pact
(E) Answer not known CCSE1P/2024

HeTau@d LUSHemWL LGS 6THS BlHBLDe| s @uisGsnd GMILLLUL (eTens
6T6OTMI LIS6L & TaLD.

‘@& @BSW TFWE uTeTHMIEL QLA FMH&HSMS JOLOSH WS R0 STEW6
BHEMaTEHEFHL @bS BLAGGME IAUUGHWIL @bal - weveSih CaumiLimbsemner
AW MSH WS WeeSln&EErsEE 0 LIImhHw e WTemSenSU|d aIGLILIeITS
QUMSHSHTETISHEMETU D QIPBIGaIS6T eneuld LNFlLI6q 9FFmmIsSLh B LWDTeT Wenmuiey
@BrHW GCxHHAW sTrGBIamily wWeveSld umGHEMUINET FIsHWSMES WMWY EHS

WUHTSSSI".
(A) euraigsmerLl L ifledlem 6ot (B) & 316mpWIMenLD @) UISH SN
(©) @bswL Liflelemeor (D) weorm eeLILBSLD

(E) ellemL Qs iflweilsvemev

195. Assertion [A] Mahatma Gandhi suspended the Non-Cooperation movement in
1922 due to Chauri Chaura Incident.
Reason [R] : Subhash Chandra Bose and some other leaders opposed the idea of

Non-Violent struggle.
(A) [A] is true, [R] is false
(B) Both [A] and [R] are true and [R] is not the correct explanation of [A]
(C) [A]is false, [R] is true
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(D) Both [A] and [R] are true, but [R] is not the correct explanation of [A]

(E) Answer not known CCSE1P/2024

&5 [A] : 1925-60 IDG&TSHIOM &THE) F6)ifl FaUIIT BHLDEUTEV 625 56MLOWITERLN
QUWEHSHNG blOISS 6T,

smygevortd [R] FUMTEQ FHHTCLTEV LDMMID Flev &6M6VeUFTE 6T GU6ST(LNEMMUIMM

GUTIMLLLD 6T60TM &H(HHMS 6TH [T & H60TI.
(A) [A]l &1l [R] Beumy
(B) [A] mmouid [R] @pevor(ld &ifl inmmiid [R] eteorig [A] -ulleiemwi Fifludmeor
aflemg &1
(O [A]l soumy [R] &1f
(D) [A] nmmid [R] @pevor(ib &ifl, gpeormev [R] — [A]-ulenuemiwi Fiflwimeot el6mdssneve6v
(E) ellemL Qs iflweilsvemev

196. Which of the following statements are true about Mahatma Gandhi?
(i) Khadi is the symbol of the economic programme of Gandhi
(ii)) Gandhi started peasant movement in North Bihar
(iii) Gandhi wrote about ‘Quit India’ in New India

(iv) Gandhi’s Satyagraha Movement has against Indian National Congress

(A) (i) and (iv) only (B) (i) and (ii) only
(C) (ii), (iii) and (iv) only (D) (i) and (iii) only
(E) Answer not known CCSE1P/2024

LY 6BT6U (H6U 60TEUMMIET LO&MTELOIT STHS WL LM MU &l WIMers o.M MIGH6T 6T6m6U?
— TEOTLIMTY SaMMI& @8 SHITF60oTLD.

(1) srhrEUleT QUTMHETTSTT S ST 60T FleTard &ITH

(i) euL&® Wsrflev elleusmuiserfler @UsHeH5mMS SMTHSH Q&ML MBI 6TT.

>iil) plw, @BHwmele) &sTHS G elsTen6TCsT QeueflGuIm LM eTW&H eoTT.

(iv) srhEHulleT FSHWMTRTS @UESID @hH W CHAW S&THRISTIMES aTHImars.
(A) () wmmib (iv) L HID (B) (1) wommitb (ii) oL @Gib

(C) (i1), (iii) moid (iv) WL @D

(D) (1) ot (iii) L @G

(E) ellemL Qs iflweilsvemev

197. Choose the right matches among type

(1) Rajaji - Sakravarthi Thirumagal
(2) Subramania Siva - Prabanchamitran

(3) Bharathiyar - Kadavul Oruvare

(4) V.O.C. - Meiyyarivu

(A) (3) and (4) (B) (1), (2) and (4)

(C) (2), (3) and (4) (D) (1), (3) and (4)

(E) Answer not known CCSE1P/2024
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Fflumsg QUITBBS W 6TeTeumenm G556 QF IS

(1) @rrgrgl - F&IITSS) (L0860
(2) &Ulywesstiw Seur - NruEhs L0155 reot
(3) umg®wmy - &L66T @eUCH

(4) eu.o 8. - Quuwnley

(A) (3) oOoLb (4) (B) (1), (2) whmibd (4)

(O (2), (3) wHmb (4) (D) (1), (3) whoibd (4)

(E) ellevL Qs flualevemney

198. Who remarked, about Rani Lakshmi Bai as “Here lay the women who was the only
among the rebels”, during the Revolt of 1857?

(A) General Hugh Rose (B) John Lawrence
(C) Colonel Smyth (D) Colonel Wheeler
(E) Answer not known CCSE1P/2024

man

1857 UL @ uwlledr Gumg mevol] vl &Ll LM UMM “@emFeaRwmeTiserflev G 2,600TMs

@B QLevor @MmICH FLSSLILL(H @SR mTT” eTedormy Wy SOOI LTF?
(A) Qggevtyev andluy Grmeny (B) 2160t 6LITT60TEIV

(C) srerev euLAG (D) sjeorev efeuiy

(E) ellemL Qs iflweilsvemev

199. Which of the following statements are true about 1857 Revolt?
(1) Even before the out break of the Revolt Mangal Pandey had become a martyr.
(2) At Kanpur the revolt was led by Zeenat Mahal.
(3) Kunwar Singh was the Chief Organiser of the revolt in Bihar.
(4) Rani Lakshmi Bai died while fighting on 17 June 1859.
(A) (1) only
(B) (4) and (2) only
(O) (1) and (3) only
(D) (2) and (3) only
(E) Answer not known CCSE1P/2024
1857 - @eTF&FF LMW LN6TeUHLD Fo MHMIGETIEL 6TSI 2_6v0T6mILN?
(1) ®aisFs Qe lILSME (PeTCL LOMIG6) LIMeoTCL @mbS SuImERWImS el LTy,
(2) smerwflev enSerrs WammeL Senevemnuie) HeTIFR BLHSSI.
(3) setteul Sl LI mflev BLBS HeTFFHR MU FenevemnGuImmI HL&FH6oTTI.
(4) @uomeoofl Qevaq LMl 1859 e3°60T 17 96oTmy CUITl6L @MbBSTI.
(A) (1) LB
(B) (4) opouid (2) LLGLD
(©) (1) OO (3) LG
(D) (2) woHouid (3) LLBILD
(E) ellemL Qs iflweilsvemev
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200.Match the following :

List — I

(Author)

(a) Bankimchandra
(b) Dinabandhu Mitra
(¢) Premchand
QUMBHSS&:
uiguiew - I

(mrevm& flwiy)

(a) URIKWLEHSHTT
(b) Serubal WG&TT
(c) WCrh&hs

@ ® (

A) 2 1 3
(B) 3 1 2
(8)) 2 3 1
(D) 3 2 1
(E) Answer not known

www.vetriias.com

List — II

(Works)

1. Shatranj Ke Khilari
2. Devi Chaudharani
3. Nir Darpan

UL iguev —IT

(L6 LIL|86IT)

1. 5&TEHF G Fevmif]
2. Gzl Q&F6TS T Mevol]
3. 1Bev L6

CCSE1P/2024
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